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Table S1. Molecular species composition of MGDG, DGDG, SQDG, PG, PE, PC, PI, PHEG and DGTS of Streblonema
corymbiferum and Streblonema sp. at various cultivation temperatures. Values given as % of total lipid class, (mean + s.d. for
triplicate). “+” —amount less than 0.1%, “-” — not detected. Between columns result of Tukey test (p<0.05, n=3) are shown
(“>7, “<” — statistically significant difference, “=" — no significant changes), “T” — difference between 5 and 25 °C.

Streblonema corymbiferum Streblonema sp.
MGDG

5°C 0°C 15°C 20°C 25°C T # 5°C 10°C 15°C 20°C 25°C T
16:2/14:0 + > - - < + = + = - - < + > + < + <
14:0/16:1 + = + = + = + = + = + = + = + = + = + =
14:0/16:0 + = + = + = + = + = + = + = + = + = + =
16:3/16:4 + < + = + = + = + = + = + = + = + > - >
16:3/16:3  0.1#00 < 0.4%0.0 > 0.2#0.1 > + = + > 0.1+0.0 = 0101 > + = + = + =
16:2/16:3 0.1+0.0 < 0.4+0.1 = 0.5+0.3 = 0.6£0.2 = 0.6£0.3 < 0.1+0.1 = 0.4+0.2 = 0.4+0.2 = 0.4+0.2 = 0.5+0.2 =
14:1/18:4 + < 01x01 = 0.1x01 > + = + = + = 0.1%£00 = + = + = + =
18:3/14:1 + = + = + < + = + = + = + = 0.1+0.1 = 0.1¥0.2 = + =
16:1/16:3 0.1+0.0 < 0.5+0.2 = 0.740.3 = 1.0+0.3 < 24+0.1 < 0.1+0.0 = 0.2+0.1 = 0.4+0.2 < 0.9+0.2 = 1.620.0 <
14:0/18:4 + < 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = 0.1+0.1 = 0.2+0.1 = 0.1+0.1 = 0.1+0.0 = 0.1+0.1 = 0.1+0.1 =
16:1/16:2 0.2£0.2 = 0.3+0.2 = 0.1+0.0 = 0.1+0.1 = 0.3+0.2 = 0.1+0.0 = 0.1+0.1 = + = + = 0.1+0.0 =
14:0/18:3 0.3+0.2 = 0.5+0.3 = 0.5#0.1 = 0.4+0.2 = 0.5+0.3 = 0.7+0.1 = 0.6+0.2 = 0.5+0.0 > 0.2+0.1 = 0.3x0.1 >
16:0/16:3  0.2+0.3 = + > + = + = + > + = + > + = + = + =
16:1/16:1 + = + = 01+00 = 0.1x00 = 0.2#0.1 < + = + = + < 02#0.1 = 0.2#0.0 <
14:0/18:2 0.3#0.2 > 0.1x0.0 = 0.2+01 = 0.1#00 = 0.1x0.0 > 0.4+0.2 > 0.1#00 = 02+0.1 > 0.1+00 = 0.1#x0.0 >
14:0/18:1  1.240.2 < 2.0x01 < 22+01 = 2.0+£03 = 2004 < 1.1+0.1 = 1005 = 14#02 > 10+00 = 0.9#00 =
16:0/16:1 + = + < + = + = + = + = + = + = + = + =
16:0/16:0 + = + = + = + = + = + = + = + = + = + =
16:1/17:3 + = + = + > + = + = + = + = + = + = + =
15:0/18:4 + < + = + = + = + = + > + = + = + = + =
15:0/18:4  0.1#0.0 = 0.1x0.0 > + < + > + > 0.1+0.1 = 0.1#00 = 0100 = 0.1+00 = 0.1#0.0 =
15:0/18:3  0.3+0.1 = 0.2#0.0 > 0.1#x0.0 > + = 0100 > 0.2+0.1 = 02#01 = 02+0.1 = 0.1+00 = 0.1+0.1 >
15:0/18:2 + = + < + = + = + = + = + = + = + = + =
18:1/15:0 - < + = + = + = + = + = + = + = + = + =
15:0/18:1 + = + = + = + = + = + = + = + > + = + =
15:0/18:1 + = 0.1+00 = 0.1x00 > + = + = + = 0.1#00 = 0.1x0.0 = + = + =
17:1/16:0 + = + = + = + = + = + = + = + = + = + =
16:4/18:4 0.1+0.1 = 0.1#0.0 = 0.1+0.0 = + = + > 0.1+0.1 > + = + = + > + >
16:3/18:4 + = + < 0100 = 0.1+00 = + = 0.1+0.0 = + < 0.1+00 > + = + =
18:3/16:4  0.1x0.0 = + = + = + = + = + = + = + = + = + =
18:3/16:3 + = 01+00 = 0.1#01 = 01%0.1 = 0.1x00 = 0.1+0.1 = 01+#01 = 01+01 = 0.1+#01 = 0.1#01 =
16:2/18:4 + = + = 0.1+£00 = + = 01x01 = 0.1+0.0 = + = + = 01+0.0 = 0.1+0.0 =
16:2/18:3 + = + = + = + = + = + = + = + = + = 01%00 =
18:4/16:1 + < 01+00 = 0.1#01 = 0100 = 0.2+0.1 < + = 0.1+#00 = 01+00 = 0.1+#01 = 0.2+#0.1 =
16:1/18:4 + = + < 0100 = 02+0.2 = 0.1#01 = 0.1+0.0 = 0.1+#00 = 01%0.1 = 0.1+#01 = 0.2+#0.1 =
18:1/16:4 0.1+x0.1 = 0.1+0.0 = 0.1+01 = 0.2+#0.1 = 0.1+01 = 0.1+0.0 = + = + < 03+x0.1 = 03+0.2 =
20:5/14:0 0.1¥0.0 = 0.1#0.0 = 0.1+0.0 = 0.1+01 = 0.1%0.1 = + = + = + = + = + =
14:0/20:5 + = 01+00 = 0.1#01 = 01%01 = 0.1%01 = 0.1+0.1 = + = + = + = + =
18:5/16:0 + = 01+01 = 0.1+#00 = 0100 = 0.1%01 = + = + = 01+0.0 = + = + =
18:3/16:1 0.1+0.0 = 0.1+x0.0 = 0.2¢0.1 = 0.2#0.1 = 0.2#0.0 = 0.1+0.0 = 0.1+#0.0 = 0.1+00 < 0.2+00 = 0.3+t0.0 <
16:1/18:3 + < 0.1+00 = 0.1+#00 = 0100 = 0.2#0.1 < + < 01#00 = 01+01 = 0.1+00 = 0100 =
18:1/16:3 + = + = 01+x0.1 = 0.1+01 = 0.1%0.1 = 0.1+0.0 =  0.1+0.0 = + = + = 0.1+£00 =
14:0/20:4 0.2¢0.0 = 0.1+0.1 = 0.2¢01 = 0.1#0.0 = 0.1#01 = 0.1+0.1 = 03#02 = 01+01 = 02#01 = 0.1#01 =
16:0/18:4 0.1+0.1 = 0.1+x0.1 = 0.1+0.0 = 0.1#0.0 = 0.1#0.0 = 0.1+0.1 = 01#01 = 01+01 = 0.3#02 = 0.1#0.0 =
18:2/16:1 + < + = + = + < 01+00 < + = + = + = 01x01 = 0100 =
16:1/18:2 + < + = + = + = 01£00 < + = + = + = 01%00 = + <
18:1/16:2 + = + < + = + = + = + = + > + = + = + =
16:0/18:3  1.9+04 > 1.3+0.0 > 05+0.1 = 05+03 = 0.5%0.2 > 2.6+0.3 = 25+#04 = 2305 = 19+#01 = 1.4+00 >
18:0/16:3 + = + = + = + = + = + = + = + = + = + =

18:1/16:1 + = + = + = + = + = + = + = + > + = + =
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Streblonema corymbiferum

Streblonema sp.

DGDG
5°C 10°C 15°C 20°C 25°C 5°C 10°C 15°C 20°C 25°C
14:0/16:1 + < 0.1+0.0 0.1+0.0 = 0.1+0.1 0.1+0.0 + = 0.1+0.0 = 0.1+0.1 = 0.1+0.0 0.1+0.1
14:0/16:0 + = + = + = + + + = + = + = + 0.1+0.0
16:1/16:4 0.1+0.0 > + = 0.1+0.0 = + + + = + = + = + -
16:3/16:1 + = + = + = + + 0.1+0.0 > + = + < 0.1+0.0 +
14:0/18:4 0.2+0.2 = 0.2+0.0 > 0.1+0.0 = + 0.1+0.0 0.5+05 = 0.3:0.0 > 0.1+0.1 = 0.1+0.1 0.1+0.0
16:1/16:2 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = + + 0.1+0.1 = 0.1+0.1 = 0.1+0.0 > + 0.1+0.1
14:0/18:3 3.3:t0.6 = 2.4+05 = 3.1+0.6 > 2.0+0.2 2.4+0.4 3.5+0.3 > 1.5+11 = 2.1+0.2 > 0.8+0.4 0.5+0.1
16:1/16:1 0.1+0.0 = 0.1+0.0 < 0.2+0.0 = 0.1+0.1 0.4+0.1 0.1+0.0 = 0.1+0.1 = 0.2#0.1 = 0.3+0.2 0.3+0.3
14:0/18:2 0.4+0.2 = 0.4+0.1 = 0.3+0.2 = 0.3+0.1 0.3+0.1 0.6x0.3 = 0.2£0.2 = 0.2£0.2 = 0.7+0.4 0.8+0.2
14:0/18:1 0.5+0.1 < 1.6+04 < 24+05 = 2.9+0.4 2.9+0.3 0.2#0.1 = 0.3+0.0 = 0.4+0.2 = 0.6+0.5 0.6+0.2
16:0/16:1 0.8+0.1 < 1.4+04 = 1.2+#05 = 0.8+0.1 1.6+0.4 + = 0.1+0.1 = 0.2+#0.3 = + 0.4+0.6
16:0/16:0 0.1+0.0 > + > + > - + + = + = + = + +
15:0/18:4 + = + = + = + + 0.1+0.0 = + = + = + +
15:0/18:3 0.1+0.0 = + < 0.1+0.0 = 0.1+0.1 + 0.1+0.1 = 0.1+0.0 = 0.1+0.1 = 0.1+0.1 +
15:0/18:2 + = + = + = + + 0.1+0.0 > + = + = + 0.1+0.0
15:0/18:1 + < 01£00 = 01+00 = 0.1x0.0 0.1+0.1 + = + = + = 0.1+0.0 0.1+0.0
16:3/18:3  0.1#0.1 = + = + = + 0.1+0.1 + = 0.1+0.0 = 0.1£0.0 > + +
18:4/16:2  0.1+x0.1 = + < + = + + + = + = + = 0.1+0.0 0.1+0.1
16:2/18:3 + = + = + = + + + = + = + = 0.1+0.0 0.1+0.0
18:4/16:1 0.1+0.0 > + = + = + 0.1+0.1 + = 0.1+0.0 > + = 0.1+0.1 0.1+0.0
20:5/14:0 0.1+0.1 = + < 0.2#0.1 = 0.2+0.0 0.3+0.2 + = + = 0.1+0.0 = 0.1+0.1 0.1+0.1
16:1/18:3 0.4+0.2 = 0.2#0.1 = 0.2#0.1 = 0.2+0.1 0.3+0.1 0.2#0.1 = 0.2+0.1 = 0.1+0.1 = 0.2+0.1 0.3+0.2
16:0/18:4 0.7+0.1 > 0.3+0.1 = 0.2+0.1 > 0.1+0.1 0.1+0.0 0.3+0.1 = 0.2+0.1 = 0.2+0.1 = 0.2+0.1 0.1+0.1
16:1/18:2 + = + = + = + + 0.1+0.0 > + = 0.1+0.1 = + +
14:0/20:3 0.1+0.0 > + = 0.1+0.0 = 0.1+0.1 + 0.1+0.1 = 0.1+0.1 = 0.1+0.0 = 0.1+0.1 +
16:0/18:3 2.9+05 > 1.4+0.3 < 2.4+03 > 0.8+0.2 1.4+0.6 5.4+0.6 < 6.9+0.9 > 5702 = 5.5+0.9 4.3+0.4
16:0/18:2 0.3#0.2 = 0.2#0.0 = 0.240.0 = 0.2#0.1 0.2+0.0 0.6£0.3 = 0.4+0.2 < 1.2+#0.2 > 0.7+0.1 0.9+0.3
16:0/18:1  0.6+0.1 < 1.0#0.2 = 1.1+01 = 0.8+04 1.1+0.4 0.4£0.3 < 1.0+0.3 < 22+05 = 2.6+0.1 1.9+0.7
20:5/16:4 0101 = 0.1#00 = + = + + + = 0.1+0.0 = + = + +
18:4/18:4  3.1#09 = 24#02 > 1.9+02 > 1.1+03 0.4+0.1 2.8+0.1 = 21+0.7 = 1.4+06 = 1.2+0.2 1.2+0.4
18:3/18:4 14403 < 28+#1.0 > 0.8+04 = 15+04 0.8+0.3 1.7+0.8 < 3.6+0.6 = 4.0£0.4 > 2.0+0.7 4.2+0.7
20:5/16:2 1.7+03 = 1.8+05 = 24+02 = 2605 1.1+0.4 1.4+08 = 1.0+0.6 = 0.5+0.3 < 4.4+1.3 1.9+0.7
16:3/20:4 + = + = + = 0.2+#03 + + = + = + = + 0.1+0.2
18:3/18:3  7.0#0.3 = 6.6#0.3 > 6.1+0.1 < 6.9+0.6 8.2+0.8 8.3+1.3 < 104403 = 12.1#15 = 13.6x1.2 9.9+0.4
20:5/16:1 0.5+0.1 = 0.4+0.1 = 04+0.2 < 1.6+0.3 3.6+0.8 0.3+0.1 > 0.1+0.0 = 0.4+0.3 < 1.8+0.6 3.9+1.8
18:3/18:2 1.5+0.2 > 0.8#0.3 = 0.8#0.3 = 0.5#0.1 1.0+0.2 2.0+0.2 < 2.8+0.3 > 1.7+0.4 < 5.8+0.1 8.5+0.9
20:4/16:1  0.1x0.0 = + = 01+0.0 = 0.1+0.1 0.1+0.1 0.1#0.0 = + = 0.1+0.0 = 0.1+0.0 0.2+0.3
20:5/16:0 0.5%0.1 > 0.3%0.2 = 04+01 = 0.7+0.3 1.7+0.3 0.1#0.1 = 0.1+0.0 = 0.1+0.1 = 0.2+0.1 0.5+0.0
18:2/18:2  0.1#0.0 = 0.2+0.3 = + = + 0.2+0.1 0.2#0.1 = 0.2+0.1 = 0.1+0.1 < 0.6+0.2 0.8+0.7
18:3/18:1  0.44#0.1 < 1.8#0.2 > 0.9+0.7 = 1.3+0.8 1.4+0.9 0.4+0.0 = 0.5+0.3 = 0.4+0.1 < 1.1+0.5 1.1+0.4
20:4/16:0 0.3x0.3 = + = + = 0.4£06 0.1+0.1 0.1#0.1 = 0.2+0.1 > + = 0.1+0.1 0.4+0.7
16:0/20:4 + = + = + = + + + = + = + = + +
18:2/18:1  0.1#0.0 = + = + = 0.1+0.0 0.1+0.1 + < 0.1+0.0 = 0.1+0.0 = 0.1+0.1 0.1+0.0
20:3/16:0  0.1x0.0 > + = + = + + + = 0.1+0.1 = + < 0.1+0.1 0.1+0.1
16:0/20:3 + = + = + = 0.1+0.1 + 0.1+0.0 = 0.1+0.0 = 0.3+0.2 = 0.1+0.0 0.1+0.1
18:0/18:3 + = 0100 = 0.1x0.0 > + + 0.1#0.1 < 0.4+0.2 = 0.4+0.3 = 0.2+0.1 0.1+0.0
18:1/18:1  0.1#0.1 = + = + = + 0.1+0.0 + = + = + = + 0.1+0.0
18:0/18:2 + = + = + = + + + = + = + = 0.1+0.0 +
18:0/18:1 + = 0.1+£00 = 0.1+0.0 = 0.1+0.0 + 0.1+0.0 = 0.1+0.1 = 0.1+0.1 = 0.2+0.1 0.1+0.0
18:2/19:3 + = + = 01+01 = + 0.1+0.0 0.1+0.1 = 0.1+0.1 = 0.2+0.2 = 0.1+0.1 0.3+0.1
18:3/19:1 + = + = + = + + 0.1+0.1 = + = 0.1+0.0 = 0.1+0.1 0.1+0.1
20:5/18:4 55.2+4.6 > 47.3+1.0 > 40.9+1.7 > 32.1+1.8 21.7+0.8 55.2+4.3 > 456+1.9 > 37.0+1.7 > 26.2+1.1 20.0+2.2
20:5/18:3  9.6+x1.2 < 16.7405 < 21.7+1.1 < 29.4+0.8 31.3+0.3 9.2+0.9 < 146+04 < 21612 > 154404 15.9+1.7
20:4/18:4 52+1.2 = 45+09 = 4.6+05 > 2.6+05 2.5+0.9 3.7+#15 = 35+0.1 > 2.4+06 < 5.1+0.3 3.8+1.9
20:4/18:3  1.1+#01 = 1.1+03 < 2.0+03 = 1.7+04 5.2+0.9 0.6+0.4 = 1.1+06 = 1.3+0.2 < 5.9+0.6 6.6+2.3
20:5/18:2 0.5+0.1 < 1.1+04 = 0.8+0.2 < 3.2+0.2 2.0+1.2 0.6+0.3 = 1.0+0.6 = 1.6+0.3 = 1.1+0.3 5.0+1.6
20:3/18:3 + = 0.1+0.0 = + = + + + = + = + = + 0.1+0.0
20:4/18:2  0.1+0.0 = 0.1+0.0 = 0.7¢0.7 = 0.2+0.1 0.2+0.2 0.1+0.0 = 0.1+0.0 = 0.1+0.1 < 0.6+0.1 2.0+0.5
20:5/18:1  0.3x0.2 < 18403 = 25+0.7 < 4.6+0.6 6.2+0.4 + < 0.2#0.1 = 0.2#0.1 < 1.2+0.2 1.7+0.5
18:3/20:2 + = + = + = + + 0.1+0.1 = 0.1+x0.1 = + = 0.1+0.1 +
20:4/18:1  0.1+0.1 = + = + = 0.1+0.0 0.2+0.1 + = + = + = 0.1+0.0 0.2+0.1
20:3/18:1 + = + = + = + + + = + = 0.1x0.0 = + +
18:1/20:2 + = + = + = + + + = + = + = + +




Streblonema corymbiferum

Streblonema sp.

SQDG
5°C 10°C 15°C 20°C 25°C T 5°C 10°C 15°C 20°C 25°C T
14:0/14:0 0.1+0.0 < 0.3+0.1 0.3+0.1 = 0.5+0.3 = 0.9+0.2 < 0.3+0.1 0.4+0.3 = 0.1+0.1 < 0.4+0.1 = 0.5+05 =
14:0/16:1 0.3+0.1 = 0.5+0.2 < 0.7+0.1 = 1.1+04 < 2.4+0.2 < 0.4+0.1 0.5£0.2 = 0.3+0.2 < 0.8+x0.3 = 1.4+05 <
14:0/16:0 1.0£0.0 < 1.5+0.2 < 2.2+%0.1 < 4.8+1.2 < 8.0+0.6 < 1.2+0.6 2.4x0.1 < 3.7x0.9 < 7.2x1.0 < 10.8+0.5 <
16:1/15:0 + = 0.1+0.1 = 0.1+0.0 = 0.1+0.1 = 0.2+0.2 = 0.1+0.1 0.1+0.0 = 0.1+0.1 = 0.1+0.1 = 0.1+0.1 =
16:0/15:0 0.1+0.0 > + = + < 0.1+0.0 = 0.1+0.1 = 0.1+0.0 0.1+0.0 = 0.1+0.0 = 0.2+0.1 = 0.3x0.2 =
14:0/18:3 5.0+1.2 = 3.6x0.2 > 2.6£0.3 > 1.8+0.2 > 1.2+0.1 > 2.4%0.2 1.9+0.2 > 1.2+05 = 1.0£0.2 = 0.6x0.5 >
14:0/18:2  3.3+0.3 = 3.0:04 = 3.1:03 = 37:08 = 3.8:04 = 3.0:0.8 3609 > 22404 <  39:07 = 38203 =
14:0/18:1,
16:0/16:1, 7.1+0.4 < 12.4#11 < 14.4+08 < 20.2t15 < 26.8#0.7 < 5.8+0.9 7714 = 6.6x1.0 < 11.4+0.6 = 11.9+4.2 <
16:1/16:0
16:0/16:0 0.2+0.0 = 0.2+0.1 < 0.5+0.1 = 0.7+0.1 < 1.2+#0.3 < 1.4+0.3 2.4+0.7 < 4.4+04 < 6.4+0.7 < 9.4+0.9 <
15:0/18:3 0.3+0.3 = 0.3+0.1 = 0.1+0.1 = + = 0.1+0.1 > 0.2+0.2 0.1+0.1 = 0.2+0.1 = 0.1+0.0 = 0.1+0.0 =
15:0/18:2 0.2+0.0 > 0.1+0.0 = 0.1+0.1 = 0.2+0.1 = 0.1+0.1 = 0.1+0.1 0.1+0.1 < 0.3+0.1 = 0.3x0.1 = 0.4+0.1 <
15:0/18:1 0.4+0.2 = 0.4+0.0 = 0.4+0.2 = 0.2+0.0 = 0.5+0.2 = 0.1+0.0 0.4+0.1 = 0.1+0.1 = 0.2+0.1 = 0.5+0.0 <
17:1/16:0 0.4+0.3 = 0.6x0.2 = 0.6x0.1 = 0.6x0.3 = 0.6x0.1 = 0.7+0.4 0.5+0.1 = 0.2£0.0 = 0.2+0.1 = 0.4+0.3 =
14:0/20:5 - # + = + = 0.1+0.1 = + = 0.1+0.1 0.1+0.0 = 0.1+0.0 = + = 0.1+0.1 =
16:1/18:3 0.2£0.2 = + = + = + > - > 0.1+0.1 0.1+0.0 > + = + = + =
20:4/14:0 0.1+0.0 = + = + = + = 0.1+0.1 = 0.1+0.1 + = 0.1+0.0 = 0.1+0.0 = 0.1+0.1 =
14:0/20:4 0.1+0.0 = 0.1+0.1 = + = + = + = 0.1+0.0 + = 0.1+0.0 = + = 0.1+0.1 =
18:3/16:0 22.9+15 > 16.8+t1.1 > 145+1.1 > 10.0+1.0 > 6.3+t1.0 > 23.5%£2.4 17.5+1.4 > 15.1+05 > 12.5+09 > 8.5+0.5 >
18:2/16:0 8.9+0.4 > 6.0£0.0 > 4.7+0.8 = 5.24¢0.2 = 5.1+04 > 9.8+0.1 11.3+0.8 = 10.3+0.6 < 16.0£1.3 = 18.2#35 <
18:1/16:0 40.3+1.3 < 48.7+#1.3 = 50.0+1.2 > 44.4+32 > 38.0+2.0 = 41.7+0.9 44,130 < 49.8+43.1 > 35.7¢1.4 > 29.6x1.4 >
18:1/16:0 4.6+0.2 > 2.2+¥1.0 = 2.0+1.2 = 24401 < 2.8+10.3 > 4.2+0.9 3.0+04 > 2.0+0.6 > 0.9+0.6 = 1.4+00 >
18:0/16:0 0.1+0.0 > + = + = 0100 > + > + 0.1+0.0 = 0.1+0.0 = 0.1¥0.1 < 0.2£0.1 <
16:0/19:1 0.1+0.0 = 0.2#0.1 = 0.2£0.2 = 0.3+0.1 = 0.2#0.1 = 0.2+0.0 0.1+0.0 = + = + = 0.1+0.0 =
17:0/18:1 0.1+0.0 = + < 0.1+0.0 = 0.1+0.1 = 0.1+0.1 = 0.1+0.0 0.1+0.0 > - < + = + =
18:4/18:4 0.1+0.0 = 0.1+0.1 = + = + < 0.1+0.0 = 0.1+0.0 0.1+0.0 = 0.1+0.0 = + = 0.2+0.2 =
18:3/18:4 0.6+0.3 = 0.3+0.0 = 0.3+0.1 = 0.2+0.1 = 0.1+0.0 > 1.4+0.3 0.9+0.1 > 0.4+0.1 = 0.3+0.1 = 0.1+0.1 >
18:3/18:3 1.0+0.1 = 0.7£0.2 = 0.6+0.1 = 0.4+04 = 0.2+0.1 > 1.2+0.1 0.8+0.4 = 0.4+0.1 = 0.4+0.1 > 0.1+0.1 >
18:2/18:4 0.1+0.1 = 0.1+0.1 = 0.2+0.0 = 0.1+0.1 = + > 0.2#0.1 0.3+0.0 = 0.1+0.0 = 0.1+0.1 = 0.1+0.1 =
18:3/18:2 0.3+0.0 > 0.1+0.1 = 0.2#0.1 = 0.2#0.1 = 0.1+0.1 = 0.1+0.0 0.2+0.2 = 0.1+0.1 = 0.3x0.5 = 0.3+0.2 =
18:2/18:3 0.6+0.3 = 0.3+0.1 > 0.1+0.1 = 0.3+0.1 = 0.1+0.1 > 0.4+0.2 0.5+0.1 = 0.6+0.2 = 0.4+0.3 = 0.3+0.1 =
18:1/18:4 0.1+0.0 = + = + = + = 0.1+0.0 = + + > - = + = 0.1+0.0 <
20:5/16:0 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = 0.2#0.1 = + = 0.1+0.0 0.1+0.1 = + = + = + >
18:3/18:1 0.6+0.1 > 0.2#0.1 < 0.4+0.1 < 0.7£0.0 > 0.3+0.1 > 0.2#0.1 0.1+0.1 = 0.2+0.1 = + = 0.3+0.3 =
18:0/18:4 0.1+0.0 > + = + = 0.1+0.1 = 0.1+0.0 = + 0.1+0.0 = + = + = + >
18:2/18:1 0.1+0.0 = 0.1+0.0 = + < 0.1+0.0 > 0.1+0.1 = + 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = + =
20:3/16:0 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = + = 0.1+0.0 = 0.1+0.1 0.1+0.1 = 0.1+0.0 = 0.1+0.1 = 0.1+0.2 =
16:0/20:3 0.1+0.0 = 0.1+0.0 > + = 0.1+0.1 = + = + 0.1+0.0 = 0.1+0.0 = + = + =
18:1/18:1 + = 0.3+0.2 = 0.4+0.2 > 0.1+0.1 = 0.2#0.1 = 0.2#0.2 0.1+0.1 = 0.5+0.0 > 0.1+0.1 = 0.2+0.1 =
20:2/16:0 0.1+0.0 = 0.1+0.1 = 0.1+0.0 < 0.2+0.1 > 0.1+0.0 = 0.1+0.0 + < 0.1+0.1 = + = + =
18:0/18:2 0.1+0.1 = 0.1+0.1 = 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = 0.1+0.0 0.1+0.0 = 0.1+0.1 = 0.1+0.1 = 0.1+0.0 <
18:0/18:1 0.1+0.0 = 0.1+0.1 = 0.1+0.1 = 0.2#0.1 = 0.2#0.2 = + + < 0.1+0.0 = 0.1+0.1 = + =
16:0/20:0 + = + = + = + = + = + + = + = 0.1+0.0 = + =
20:5/18:4 0.2#0.1 = 0.2#0.1 = 0.2#0.1 > 0.1+0.0 = 0.1+0.0 > 0.4+0.3 0.2+0.1 = 0.2+0.2 = 0.1+0.0 = + =
20:5/18:3 0.1+0.1 = + = 0.1+0.1 = 0.2#0.1 = + = + 0.1+0.0 = 0.1+0.0 = + = + =
20:4/18:4 0.1+0.0 = 0.1+0.1 = 0.1+0.0 = + = + > 0.1+0.0 0.1+0.0 = + = + = + >
20:5/20:5 - # - # - # - # - # + + > - # - < 0.1+0.0 =
20:5/20:4 0.3:0.0 > + = + = + > - > 0.1+0.0 - < + > - # - >
20:4/20:4 0.1+0.1 = + = - < + > - > 0.1+0.0 + > - # - < + =
16:0/24:0 + = + = + = + = 0.1+0.1 = 0.1+0.0 + = 0.2+0.1 = + = + =




Streblonema corymbiferum

Streblonema sp.

Fe 5°C 10°C 15°C 20°C 25°C T 5°C 10°C 15°C 20°C 25°C T
16:1/15:0 + = 0.1x0.0 0.1+0.1 0.1+0.1 0.1+0.0 = 0.1+0.0 + < 0.4+0.1 > 0.2+0.1 = 0.1+0.1 =
16:0/15:0 + = + = 01200 0.1+0.0 0.1+0.1 < + 0.2+0.1 < 0.4£0.0 = 0.3+0.3 = 0.5+0.2 <
18:3/14:0  0.2+0.1 = 0302 = 0.3%0.1 0.5+0.1 0.3+0.2 = 0.2+0.0 0.2+0.0 = 0.1+0.0 = 0.2#0.1 = 0.2#0.1 =
14:0/18:2  0.1+0.0 = 0.1+0.0 = 0.1+0.1 0.2+0.1 0.1+0.1 = 0.1+0.0 0.1+0.0 < 0.2+0.0 > 0.1+0.0 = 0.1+0.0 =
14:0/18:1  0.2#0.1 = 0.2#0.1 = 0.2:+0.2 0.2+0.1 0.2+0.0 = 0.2+0.1 0.2+0.2 = 0.1+0.0 = 0.1+0.1 = 0.1+0.1 =
16:0/16:1  0.1x0.1 = + = + 0.120.1 0.1+0.1 = 0.1+0.1 0.1+0.0 < 0.3+0.1 = 0.1+0.1 = 0.2+0.2 =
17:0/16:1 + = 01+0.1 = 0.1+0.0 0.1+0.0 0.1+0.1 = + 0.1+0.1 = 0.1+0.0 = 0.1+0.0 = 0.1+0.0 <
18:3/16:1 15.4+1.2 = 159+1.3 < 19.5+18 13.3+1.3 14.6+4.0 = 11.4+0.8 13.0+14 = 145+0.8 > 10.8+25 < 16.5+28 <
18:3/16:0 13.8+1.4 < 16.9+0.7 < 22.1¢1.0 24.0+2.1 30.8+1.8 < 12.2+1.7 16.0+2.3 = 181+27 < 27.1¥04 = 28.8+32 <
18:1/16:1  0.1+0.0 = 0.1+0.0 = 0.1:0.0 0.2+0.1 0.3+0.1 < 0.2+0.2 0.2+0.1 < 0.9+0.4 > 0.4+0.1 = 0.4+0.0 =
iggﬁgg 8.6+1.6 > 52+04 = 54%0.4 6.5+0.8 7.1#1.0 > 8.6+1.3 7.5+1.0 = 6.0t1.1 < 10.9+14 < 14.3+24 <
16:0/18:1  9.5:0.6 < 11.6£1.1 = 10.3:0.8 8.7+1.0 7.6£0.7 > 12.3+1.0 18.0+1.2 < 26.6£1.3 > 13.8t04 = 14.0:08 <
17:0/18:3 + = + < 0100 0.1+0.1 0.1+0.0 = + + < 0.2+0.0 > + = 0.1+0.0 =
17:0/18:1  0.2+0.1 = 0.4#0.2 > 0.1:0.1 0.3+0.2 0.3+0.3 = 0.1+0.1 0.2+0.1 = 0.2+0.1 = 0.2+0.1 = 0.1+0.1 =
18:4/18:4  0.1+0.1 = 0.1+0.0 > + 0.1+0.0 0.1+0.0 = 0.5+0.2 0.1+0.1 = 0.1+0.0 = 0.1+0.0 = 0.1+0.1 >
18:3/18:4 10.0+1.4 > 55:0.2 > 2.6:0.4 1.8+0.4 0.8+0.4 > 19.7+1.8 10.6£1.2 > 4.3+0.2 > 2.3:0.4 > 0.9+05 >
18:3/18:3 23.8+1.0 = 22.8+0.8 > 19.1+1.0 19.1+1.7 10.6£1.2 > 21.4+1.2 18.8+1.7 > 14.4+#04 = 13.6t15 > 7.1+0.7 >
16:1/20:;5  0.1+0.0 = 0.1+0.1 = 0.1:0.1 + + = 0.1+0.0 0.1+0.0 = 0.2+0.1 = 0.1+0.1 = 0.2+0.2 =
18:3/18:2  7.7¢#1.1 = 8.1:#03 > 6.5:0.2 7.5£1.7 6.2+t1.6 = 6.5+0.3 6.3t0.9 > 3.7¢0.2 < 7.4+15 = 6.3t0.5 =
18:2/18:3  0.2+0.3 = 0.1+0.1 = + 0.5+0.1 0.1+0.1 = + 0.3+0.1 > 0.1+0.0 < 0.6+0.1 = 1.0£0.8 =
20:5/16:0 0.1+0.1 = + = + 0.1+0.0 0.1+0.0 = + + < 0.1+0.1 > + = 0.1+0.0 =
16:0/20:5  0.4#0.1 = 0.3:t0.2 = 0.4:0.1 0.1+0.0 0.1+0.1 > 0.3+0.1 0.4£0.2 = 0.2+0.0 = 0.3+0.3 = + >
18:2/18:12  0.9+0.4 = 0.8+0.3 > 0.3x0.1 0.8+0.1 0.6+0.3 = 1.5+0.2 1.5+0.3 > 0.6+0.1 < 3.0x1.2 = 2.740.7 <
18:3/18:1  3.3x0.5 < 51+09 = 5505 7.6£0.7 5.6£0.2 < 0.4+0.1 1.3+0.2 > 1.0£0.0 = 1.6+05 = 0.9+0.4 =
18:1/18:3 + = - = + 0.3+0.2 0.2+0.2 = + 0.1+0.0 = 0.1+0.0 = + < 0.2+0.0 <
20:4/16:0  0.1#0.0 = 0.1#0.1 = 0.1#0.1 0.1+0.0 0.1+0.0 = 0.1+0.0 0.1+0.1 = 0.1#0.1 = + = 0.1+0.1 =
16:0/20:4 0.1+0.1 = 0.1+0.0 = 0.1+0.1 + 0.1+0.1 = 0.1+0.1 0.1+0.1 < 0.3+0.0 > 0.1+0.0 = 0.1+0.0 =
18:2/18:1 1.7+0.2 = 2.1+04 = 2.0£0.3 2.9+0.3 8.2+2.0 < 0.5+0.0 0.9+04 = 0.7+0.1 < 1.2+0.2 = 0.6£0.5 =
18:1/18:2 0.2#0.1 = 0.3+0.2 = 0.2+0.2 0.2+0.2 0.2#0.2 = 0.2+0.2 0.3+0.1 = 0.3+0.0 = 0.3+0.2 = 0.2+0.1 =
20:3/16:0 0.1+0.1 = + = + 0.1+0.1 0.1+0.1 = + 0.1+0.0 < 0.1+0.0 = 0.1+0.1 = - >
18:3/18:0 0.1+0.1 = + = 0.1+0.0 + 0.1+0.1 = + 0.1+0.0 # - # - < + =
18:0/18:3 0.1+0.1 = 0.1+0.0 = 0.1+0.0 0.1+0.0 - > + - # - # + > - >
18:1/18:1 1.3+0.2 < 1.9+04 < 2.9+0.2 3.0£0.6 4.0£0.1 < 1.1+0.1 1.8+0.8 < 3.9+0.7 = 4.0+08 = 4.0+1.2 <
18:0/18:2 0.2+0.0 = 0.2+0.1 = 0.2#0.1 0.1+0.0 + > 0.2#0.1 0.2+0.2 = 0.4+0.1 = 0.2+0.2 = 0.1+0.0 =
18:0/18:1 0.7#0.1 = 0.9+0.3 = 1.0+0.2 0.7£0.4 0.4+0.1 = 0.2#0.1 0.2+0.1 < 0.5+0.2 > 0.3x0.1 = 0.3x0.2 =
18:4/20:5 + = + = + 0.1+0.0 + = 0.1+0.0 + = 0.1+0.0 = 0.1+0.0 > - >
20:5/18:3 0.6+0.3 > 0.2#0.1 = 0.3+0.2 0.3+0.2 0.2#0.1 > 1.0+0.1 0.5+0.3 = 0.3+0.1 = 0.2+0.2 = 0.1+0.1 >
20:5/18:2 0.1+0.0 = 0.1+0.1 = + 0.1+0.0 0.1+0.0 = 0.2+0.0 0.2+0.1 = 0.2+0.1 = 0.1+0.1 = 0.1+0.0 >
20:5/18:2 + = + = + 0.1+0.1 0.1+0.1 = 0.1+0.1 0.2+0.1 # - # + = 0.1+0.0 =
18:2/20:5 0.1+0.0 = + = 0.1+0.0 + 0.1+0.0 = + 0.1+0.0 = 0.1+0.0 > - < 0.1+0.0 =
18:1/20:5 + = + = + 0.1+0.1 0.1+0.1 = + + < 0.1+0.0 = + = 0.1+0.0 =
20:5/20:5 + = + = + - 0.1+0.0 = 0.1+0.0 + < 0.3x0.0 > 0.1+0.0 = 0.2+0.0 =
20:4/20:5 + = + = 0.1+0.0 0.1+0.1 0.1+0.0 = 0.1+0.1 0.2+0.2 = 0.2+0.0 > + = 0.1+0.0 =




Streblonema corymbiferum

Streblonema sp.

PE 5°C 10°C 15°C 20°C %5C T 5°C 10°C 15°C 20°C 2%5°C T
16:1/161 01301 = + 0.10.0 0.2¢0.1 01:0.1 = 01:00 < 02t01 =  03:02 =  03:01 > 01401 =
16:0/16:1 01201 = + = 0101 + 01:0.1 = 0100 = 0101 = 0100 = 0101 =  02:02 =
140205 13106 = 1706 =  2.0+0.4 25+0.4 3501 < 06104 = 0402 =  05:02 = 05:01 = 04202 =
140204 08203 = 15108 < 3.9403 4506 6.6:07 < 0402 = 0201 < 04:01 = 09:04 =  15:05 <
181161 02402 = 0101 = 0101 0.1+0.0 0101 = 05:02 = 08:02 = 07:01 =  09:05 = 09400 =
16:0/18:1 + = 0100 =  01%00 0.2:0.2 02:0.1 = 0100 < 04401 =  04:02 = 0402 =  07:01 <
18:0/16:0 + = + = + + + = + = 01201 =  01:01 = + = 02403 =
20:5/15:0 + = 0100 =  01%00 0.1:0.1 01101 = + = 01:00 = 01200 = 01200 =  02+03 =
20:4/15:0 + = + = + . 0100 = + = 01:01 = 01201 = 01200 =  02+02 =
18:3/18:4 + = + = + 0.10.1 0101 = .= + = + = 01200 =  01:01 =
18:4/18:3 + = + = + 0.10.0 0101 = + = + = 01:01 = 01200 =  01:01 =
16:0/205 41306 = 3810 = 4T+05 3.8£0.8 45:06 = 25105 = 2005 <  43t01 >  16£0.9 =  06:05 >
182182  0.3%04 = 0101 = 0100 + + > 01:00 < 0101 = 01201 =  01:01 = 01401 <
16:0/20:4  2.9405 < 42404 =  4.9:05 6.2+1.0 84t12 < 23106 < 3809 <  65tL1 < 100:1.2 < 12.8:08 <
182/18:1 02401 = 04401 = 0101 0.1+0.0 + > 02:02 =  02t02 =  04:03 =  02:01 = 06407 =
181181 02402 < 0804 = 0802 0.8£0.2 0801 < 03:01 <  10£02 =  10:04 =  06:02 = 08402 <
20:5/18:4 02401 = 02t01 = 0.3+0.1 0.7+0.3 07£0.3 = 02:01 = 0100 = 01201 =  02:01 = 05403 =
20:5/18:3 07404 = 0404 =  0.1+0.1 0.3£0.2 06£0.3 = 06:03 =  04:04 =  01:01 =  01:01 = 01400 >
18:3/20:5  0.8:05 = 0605 = 0301 0.4£0.1 0803 = 02:01 =  02t00 > 01300 =  02:02 = 02401 =
18:3/20:4 17409 = 10£02 > 0.6:0.1 11+0.3 13106 = 05:03 =  06£01 > 03:02 =  04:02 = 08404 =
182205 02402 = 0100 = 0101 01+0.1 0101 = 01$00 =  02t01 =  01:00 =  01:01 = 01401 =
18:2/20:4  05:03 = 04403 =  0.2:0.3 0.3£0.1 07£0.3 = 03:03 =  02t01 =  02:01 =  02:01 = 03402 =
18:1/205  0.8:01 > 0501 > 0301 05+0.1 05:01 > 04:02 =  05:02 =  02:01 =  05:05 = 08403 =
181205 02402 = 0300 < 0400 0.4+0.1 03t01 = 03:02 =  03t02 =  02:01 =  02:02 = 0504 =
18:1/20:4 04302 = 0503 = 05:0.1 05+0.2 1802 < 02600 =  04:02 >  02:01 <  09:02 = 12408 =
18:0/20:5 11305 = 1008 = 1.3%10 0.90.2 0803 = 05:02 =  09t04 =  16:05 > 08:01 = 05402 =
18:0/20:4  1.2:01 < 2305 =  2.740.4 2.740.8 25:03 < 14501 <  30$09 < 44405 < 6007 = 4116 <
20:520:5 12,9415 > 95+1.0 >  7.640.9 3.5+1.0 31:0.1 > 204822 > 121:08 >  7.7:07 > 14302 = 18410 >
20:420:5 367421 > 20.7+1.0 > 26016 > 20.0:1.6 = 17.9+17 > 425+18 > 37.0¢13 > 28.6:03 > 24117 > 17.2¢0.6 >
205203 0.3%02 = 0302 = 02401 0.10.0 01:0.1 > 0803 > 0201 = 0100 = 0101 =  0.2:01 >
20:320:5 02400 < 0400 >  0.240.0 0.240.1 01:0.1 = 0401 = 0201 =  02£00 = 0101 <  0.6:01 =
20:4120:4 264416 < B312t17 = 30317 < 354824 = 326:13 < 223:30 < 30.9:10 < 350:L1 < 40.7:28 = 433%25 <
203204 02402 = 0100 =  0.240.0 0.10.0 01:0.1 > 0402 > 0201 = 02t03 =  02t03 =  0.3:04 =
20:420:2  0.1%0.0 = + = + 0.10.0 + = 0100 = 0101 = 0101 = 0100 =  0.1:00 =
20:1/20:5 07402 = 07+0.1 =  0.640.0 0.60.3 0300 > 0100 = 0100 > + = 01200 = + >
ggéggg 24:03 < 33103 < 4003 3.9:0.4 27401 = 03:01 < 06201 < 14%03 =  10%03 = 0805 =
20:0/20:4 1506 < 2801 < 3.8406 5.240.2 3701 < 03101 < 12104 < 2105 <  39:01 =  3.6:09 <
204221 0.1%0.0 > + = 01200 0.10.0 0100 = .= + < 02401 =  03:04 = 02402 =
22:0020:5  03+01 < 0803 < 15:02 14405 0906 = 0100 = 0201 = 03t0.2 = 03t03 =  05:00 <
2200204 02401 < 10802 < 17401 2.540.7 3301 < 0100 < 04401 < 0800 < 16£04 =  2.2:04 <
24:0/20:5 + o= + = 01201 0.1:0.1 01:0.1 = 03102 = 0501 = 05:04 = 02t01 =  0.2:02 =
24:0/20:4 + o= + = 01201 0.1:0.1 02:0.1 = 0101 < 04402 = 0404 =  05:0.6 =  1.0:03 <




Streblonema corymbiferum

Streblonema sp.

Fe 5°C 10°C 15°C 20°C 25°C 5°C 10°C 15°C 20°C 25°C
14:0/14:1 + + - < + + - #OEN/O! - - < + -
14:0/14:0 + + < 0.1+0.0 = 0.1%0.1 0.1+0.1 + < + + = 01+0.1 0.1+0.0
14:0/16:1 + + = + = + + + = + + = + +
14:0/16:1 + + = + = + + + = + + = + +
14:0/16:0 + + = + = + 0.1+0.1 + = + + = + 0.1+0.1
18:4/14:1 + + = + = + + + > - - # - -
14:0/18:4  0.2+0.1 0.2+0.1 = 0.1#0.1 = 0.1+0.1 0.1+0.1 0.2+0.1 = 0.1+0.0 + = + 0.1+0.0
14:0/18:3  2.7+0.1 3.0+0.2 = 2.8+#0.1 = 3.0£0.2 3.5+0.3 2.0£0.1 > 1.1+0.2 14401 = 1.2+0.2 0.40.1
14:0/18:3  0.2+0.2 0.4+0.2 = 0.2+#0.1 = 0.2+#0.2 0.4+0.2 0.3+0.2 < 0.8+0.2 0.1+0.0 < 0.4#0.2 1.5+0.5
14:0/18:2  2.1+0.5 24+0.1 < 3.0£0.2 = 29+04 4.1+0.5 1.5+0.1 = 1.8+0.2 2.3+0.0 < 2.7+0.3 3.2+0.2
14:0/18:2  0.5+0.3 0.3x0.1 = 0.1#0.0 < 0.5+0.3 0.7+0.2 0.3+0.1 = 0.3#0.3 0.1+0.1 < 0.3#0.1 0.5+0.0
14:0/18:1  1.2+0.2 24+03 < 3.0£0.3 < 6.0£0.3 9.5+0.8 0.2+0.2 < 0.6%0.2 0.5+0.1 < 1.3+0.1 2.60.0
16:0/16:0 + + = + = + + + < + + = + 0.1+0.0
17:3/16:1 + + = + = + + + = + + = + +
15:0/18:2 + + = + = + + + = + + = + +
15:0/18:1 + + = 01400 = 0.1%0.1 0.1+0.0 + = + + = + 0.1+0.0
14:0/20:5 17.2+0.6 18.7+0.2 = 19.3x0.5 > 16.1+¥14 15.1+1.7 17.2+1.1 > 11.9+1.0 10.1+0.4 >  7.5+0.6 6.7+0.8
14:0/20:4  0.4+0.4 0.5+0.1 > 0.2#0.1 < 1.7#0.3 0.6+0.2 0.5+0.1 = 0.5%0.1 0.2+0.1 < 0.5%0.3 0.3+0.1
14:0/20:4  6.0+£0.7 7.8+0.1 < 9.5+0.6 = 10.7#15 9.2+1.1 3.740.3 = 4.6+0.8 4.7+0.3 < 5.9%0.2 7.1+1.0
14:0/20:3  0.2+0.1 0.2¢0.0 = 0.2#0.0 = 0.2+#0.1 0.4+0.2 0.1+0.1 = + 0.3+0.1 > 0.1+0.0 0.1+0.1
16:0/18:3  2.5+0.1 2.7+0.1 > 2.2+0.1 < 26+0.3 2.240.2 2.4+0.2 < 3.0£0.1 2303 <  3.3+0.3 3.3¢1.0
18:0/16:3  0.3+0.3 0.3#0.1 = 0.3x0.1 < 0.5%0.0 0.5+0.3 0.1+0.1 = 0.2+0.1 0.1#0.1 = 0.2+#0.2 0.4+0.3
16:0/18:2  2.1+0.1 19402 = 1.8+0.2 = 1.8+0.1 2.6+0.2 2.6+0.4 < 3.9+0.6 4.3t05 < 6.0+0.3 6.7+0.4
16:0/18:1  1.0+0.2 1.8+0.2 = 1.8+0.2 < 3.2+0.2 5.5+0.2 0.3+0.1 < 0.6+0.1 0.940.0 < 2.9+0.2 4.6+0.7
18:4/17:2  0.1+0.1 0.3+0.1 = 0.2#0.1 = 0.1+0.1 0.1+0.0 0.3+0.2 = 0.1+0.1 0.1+0.0 > 0.1+0.0 0.1+0.0
17:2/18:3 + + = + < 0.1+0.0 0.1+0.0 + = + + = + 0.1+0.0
15:0/20:5  0.2+0.1 0.3x0.1 = 0.2+#0.1 = 0.3#0.1 0.3%0.2 0.9+0.2 > 0.3+0.1 0.2¢0.1 = 0.2#0.2 0.1+0.1
17:1/18:3 + + = + = 01x0.1 + + = 0.1+0.0 0.1+0.0 = 0.1x0.0 0.2+0.1
15:0/20:4  0.2+0.2 0.1x0.0 = 0.2#0.1 = 0.1+0.1 0.1+0.0 + = 0.1+0.0 0.1x0.0 = 0.1x0.1 0.2+0.1
15:0/20:4  0.1+0.0 0.1+0.0 < 0.2#0.0 = 0.2#0.1 0.2+0.2 + = 0.1+0.1 0.1+0.0 = 0.1x0.0 0.2+0.1
17:1/18:2 + + = + = + + + = + + = + +
17:1/18:2 + + = + = 01x0.1 + + = + + = + 0.1+0.1
17:0/18:2 + + = + = + 0.1+0.0 + = 0.1+0.1 + = 01x0.1 0.1+0.1
16:0/19:1 + + = + = + + + = + + = + +
18:3/18:3  0.1+0.0 0.1+0.0 = 0.1¥0.0 = 0.1+0.0 0.1+0.0 0.2+0.2 = 0.1+0.0 0.1+0.0 = 0.1x0.0 0.1+0.1
20:5/16:1  0.1+0.0 0.1+0.1 = + = + 0.1+0.0 0.1+0.0 = 0.1+0.0 0.1+0.0 = 0.1x0.0 0.1+0.1
16:1/20:5 + + = + = + 0.1+0.0 + = + + = 01x0.1 0.1+0.2
18:3/18:2  0.1+0.0 0.1+0.0 = + < 0.1%0.0 0.1+0.1 0.1+0.1 = 0.1+0.0 0.1+0.1 = + 0.1+0.0
20:4/16:1  0.1+0.0 0.1+0.0 = + = + + 0.1+0.1 > 0.1+0.0 0.1+0.1 = 0.2#0.1 0.1+0.1
16:0/20:5 15.0+0.4 11.1+0.2 > 8.7#0.2 > 5.8#13 6.3+0.8 18.7+0.1 = 17.6%2.0 16.2¢1.0 > 11.7#15 8.5+0.6
16:0/20:4  0.1+0.0 0.1+0.1 = 0.2+#0.1 = 0.1+0.1 0.8+0.2 0.3%0.2 = 0.2+0.2 0.4+0.1 = 0.5%0.1 0.5+0.4
16:0/20:4  4.9+0.4 4.2+03 = 43+05 = 4.3#03 2.8+0.5 4.3+0.4 < 6.4+0.1 7.3t0.4 < 9.2+0.1 9.2+0.1
18:2/18:1  0.2+0.0 0.2¢0.1 = 0.2+#0.1 = 0.2#0.0 0.2+0.1 0.2+0.0 = 0.2+0.1 0.3x0.2 = 0.2+#0.2 0.3+0.2
18:1/18:2  0.2+0.1 0.2¢0.0 = 0.2#0.0 = 0.2#0.1 0.1+0.0 0.1+0.1 < 0.4+0.1 0.2¢0.1 = 0.4+0.3 0.40.2
16:0/20:3  0.2+0.1 0.6+0.1 = 0.6+#0.1 = 0.4#0.1 0.1+0.1 0.5%0.1 = 0.5+0.2 0.4+0.1 < 1.0+0.3 1.3+0.2
16:0/20:3  0.2+0.0 0.3x0.2 = 0.3%0.2 = 0.2#0.1 0.1+0.1 0.1+0.1 = 0.2+0.2 0.2¢0.3 = 0.5%#0.2 0.40.2
18:1/18:1  0.1+0.0 0.1+0.0 < 0.2#0.0 > 0.1+0.0 0.2+0.0 0.1+0.1 = 0.1+0.1 + < 0.1%0.0 0.1+0.0
18:1/18:1  0.1+0.0 0.1+0.0 = 0.1¥0.0 = 0.2#0.1 0.2+0.1 0.1+0.0 < 0.2+0.0 0.1+0.0 = 0.2+#0.1 0.1+0.0
18:0/18:2 + 0.1+0.0 < 0.1¥0.0 = 0.1+0.1 0.1+0.0 0.1+0.0 = 0.1+0.0 0.1+0.1 = 0.3+0.2 0.2+0.0
18:0/18:1 + + = + = 0.1%0.0 0.1+0.1 + = + + = + 0.1+0.1
20:5/18:4 + 0.1+0.1 = 0.1x0.0 = 0.1+0.1 + 0.2+0.0 > 0.1+0.0 0.1+0.1 = + 0.1+0.1
20:5/18:4  0.1x0.1 0.1+0.1 = + = + + 0.2+0.1 = 0.2+0.2 + = + +
20:5/18:3  2.4+0.3 21+02 = 1.7#0.2 > 1.4£0.2 1.4+£0.2 3.4+£0.2 = 3.320.6 2.3+05 = 1.8+0.3 1.5+0.2
20:5/18:2  2.1x0.2 2703 = 2702 > 1.7+0.2 1.7+0.3 2.8+0.3 < 3.5#0.3 4.8+0.3 > 3.5%0.3 2.1+0.2
20:4/18:3  1.6x0.4 0.7¢0.1 > 0.4#0.1 < 0.9+0.2 1.1+0.3 1.5+0.6 = 1.3+0.7 0.3+0.0 < 1.3+0.4 2.2+0.2
20:3/18:3 + + = + = + + + = + 0.1+0.1 = + +
20:4/18:2  1.6x0.3 14402 > 0.9%0.1 < 1.4#0.2 1.7£0.7 0.9+0.1 < 1.8+0.1 2.0+04 = 27+0.6 3.520.2
20:5/18:1  1.0+0.1 1.3#0.2 < 2.00.1 = 2.0x0.4 2.8+0.3 1.1+0.3 = 1.4+0.3 1.840.3 < 2.6+05 1.9+0.1
18:2/20:3  0.1+0.0 0.1+0.1 = + = 0.1x0.0 0.1+0.1 0.2+0.1 = 0.1£0.1 0.2+0.0 = 0.1+0.0 0.2+0.1
20:4/18:1  0.9%0.1 15401 < 1.9%0.2 < 4.0+0.4 4.620.3 0.2+0.0 < 04£01 0.9+0.1 < 1.9+0.2 2.9+0.1
18:0/20:5  0.4+0.2 0.6+0.1 > 0.4#0.1 = 0.6+0.2 0.4+0.2 0.4+0.1 < 0.6%0.0 1.0£0.0 = 0.8+#0.2 0.60.1
18:0/20:4  0.1+0.0 0.1+0.1 = 0.1x0.1 = 0.1x0.0 0.1+0.0 + = + 0.3+0.1 > 0.2#0.0 0.3x0.2
18:1/20:1 + + = + = + + + = + + = + +
18:2/20:0 + + = + = + + + = + + = + +



16:0/22:1
18:1/20:0
20:4/19:2
20:4/19:1
20:5/20:5
20:5/20:4
20:4/20:5
20:5/20:3
20:3/20:5
20:4/20:4
20:4/20:3
20:4/20:2
20:4/20:2
20:5/20:1
20:4/20:1
20:1/20:4
20:4/20:1
20:0/20:4
20:5/22:6
20:4/22:4

+
+

+
11.4+0.9
0.1+0.1
14.0+0.4
0.2+0.1
0.2+0.1
3.9+0.4
0.7+0.1
+

0.1+0.1

8.8+0.6
+
13.4%15
0.30.2
0.30.0
4.5:0.0
0.9:0.1
+

0.1+0.0

+
+

+
8.10.7
+
13.9:0.9
0.1£0.0
0.20.1
5.240.1
1.0£0.1
+

0.1+0.0

+
+

+
4.2+1.0
0.1+0.0
10.9+0.6
0.4+0.2
0.9+0.1
6.0+1.1
1.4+0.4
+

0.1+0.0

4.4+1.4

7.9+0.5
0.1+0.1
0.3+0.2
4.2+1.1
1.0+0.1

0.1+0.1

+
+

+
16.0+1.6
0.8+0.3
10.8+0.5
0.1+0.1
0.5+0.3
2.5+0.4
0.4+0.1
+

+

+

+
+

+
11.310.3
+
13.9¢1.4
0.10.1
0.3+0.2
3.6:0.3
0.70.0
0.1£0.0
0.1£0.0
+

+

+
+
0.1+0.0
0.1+0.0
8.4+0.5
0.2+0.3
15.7+1.7
0.2+0.1
0.5+0.2
6.0+0.4
0.7+0.1
0.1+0.0
+

+

+
0.1£0.0
+
4.5:0.2
0.30.2
11.7+0.9
0.240.1
0.7:0.4
7.8£1.1
1.240.2
+

0.1+0.0

0.1+0.0

2.6+0.5
0.1+0.1
9.8+0.1
0.2+0.1
0.4+0.2
9.6+1.7
1.1+0.2

0.1+0.0




Streblonema corymbiferum

Streblonema sp.

Pl 5°C 10°C 15°C 20°C 25°C T 5°C 10°C 15°C 20°C 25°C T
iggﬁgi 29+1.1 = 4.4+1.7 5.2+0.6 4.9+1.0 6.4x1.2 < 1.7+#0.3 < 4.6x1.0 = 3.6x1.2 = 4.6x1.4 = 3.6x2.6 =
16:0/18:4 0.8+0.7 = 1.2+#0.8 = 1.4+0.9 0.7+0.4 0.7+0.1 = 0.3x0.1 = 0.9+1.1 = 1.3x0.0 > - < 0.4+0.0 =
16:0/18:3 8.3x1.2 = 55+29 = 6.1+1.7 4.4+3.0 5.1+0.9 = 6.9x14 = 5.0+0.9 = 4423 = 2.6x1.0 > 0.8x0.3 >
16:0/18:2 13.3+0.1 > 9.6x1.4 = 9.4+0.8 8.5+1.8 8.6x1.9 > 14.6£2.6 = 11.9+2.2 = 12.2#2.7 < 16.3+0.9 = 14.9+3.0 =
16:0/18:1 69.7+1.5 < 73.7+2.8 > 68.1+3.2 69.5+4.1 67.2+1.7 = 73533 = 75.0£1.3 = 77.3x40 = 74.4x1.4 = 772822 =
16:0/18:0 1.0£0.2 = 1.6£0.5 < 4.5+0.8 5.8+1.6 6.5£1.9 < 0.3x0.1 = 0.8+0.8 = 0404 = 0.5+0.3 = 0.5+x0.2 =
16:0/20:5 1.4+0.7 = 0.7+0.3 < 1.3+0.4 0.8+0.5 1.0£05 = 1.6+0.9 = 0.8+0.3 = 0.6£0.3 = 0.8+0.3 = 0.6+£0.1 =
18:3/18:0 0.2+0.1 = 0.3+0.2 = 0.3+0.2 0.6+0.2 0.3+0.1 = 0.4+0.2 = 0.4+0.2 = 0.7¢0.1 = 0.4+0.1 = 0.4+0.3 =
18:0/18:1 2.4+0.7 = 3.0£1.0 = 3.7+0.6 4.8+1.8 4.3+¥1.2 = 0.6x0.2 = 1.3x14 = 0.7¢05 = 0.6x0.3 = 2.0x1.7 =

Streblonema corymbiferum Streblonema sp.

PHEG

5°C 10°C 15°C 20°C 25°C T 5°C 10°C 15°C 20°C 25°C T
20:5/20:5 0.4+0.3 = 0.3+0.2 0.4+0.1 > 0.2+0.0 0.4+03 = 2.1+09 = 1.1+0.7 = 0.3+0.1 = 0.4+0.3 = 0.2+0.2 >
20:5/20:4 29.0#3.5 = 27.1%1.2 = 28.9+18 > 185*1.1 18.9+3.1 > 345+3.0 > 25.6+34 > 19.1+19 = 18.9+1.3 > 12.8+1.3 >
20:4/20:4 70.5+#3.7 = 72.6x1.4 = 70.7+1.7 < 81.3%1.1 80.7x2.9 < 63.4£33 < 73.3t38 < 80.5+1.7 = 80.7+1.0 < 87.0x1.3 <

Streblonema corymbiferum Streblonema sp.

DGTS

5°C 10°C 15°C 20°C 25°C T 5°C 10°C 15°C 20°C 25°C T
14:0/14:0 0.1+0.1 = 0.1+0.1 0.1+0.0 0.1+0.0 0.1+0.0 > 0.1+0.0 = 0.1+0.1 = 0.1+0.1 = 0.1+0.0 = 0.1+0.1 =
14:0/16:1 0.9+0.6 = 0.8£0.3 = 0.6+0.4 0.8£0.4 0.4£0.0 > 0.1+0.1 = 0.2#0.0 < 0.4+0.2 > 0.2£0.0 = 0.1+0.0 =
15:0/15:0 3.4+05 = 3.9+0.2 = 2.8+1.2 2.0+2.5 0.740.3 = 0.1+0.1 = 0.1+0.0 < 0.6+0.2 = 0.7¢0.2 = 1.1+1.1 =
14:0/16:0 0.5+0.2 > + = 0.1+0.1 0.1+0.1 0.2£0.2 > 0.2#0.1 = 0.3+0.3 = 0.2+0.1 = 0.4+0.3 = 0.7#0.2 <
15:0/16:0 1.3+0.5 > 0.4+0.2 = 0.4+0.2 0.6+0.7 0.1+0.0 > + = 0.1+0.1 = 0.3+0.2 < 1.2+0.1 = 1.5+1.2 <
14:0/18:3 0.2+0.0 > + = 0.1+0.0 0.1+0.0 0.1+0.1 = 0.1+0.0 = 0.1+0.1 = + = 0.1+0.1 = 0.1+0.1 =
16:1/16:1 1.4+0.2 > 1.0+0.1 > 0.5+0.1 0.3+0.0 0.2£0.0 > 0.4+0.1 = 0.3+0.1 = 0.4+0.0 = 0.2+0.0 = 0.1+0.0 >
14:0/18:1 1.7+0.3 = 1.9+0.3 = 1.4+0.3 2.5+0.1 1.5+0.2 = 2.2+04 = 29+04 = 2605 = 3.1+0.2 > 2101 =
16:1/16:0 1.7+0.7 = 1.2+0.3 > 0.7+0.2 0.8+0.1 0.6£0.2 > 4.0£0.8 > 1.8+0.5 > 0.5+0.3 = 0.6+£0.2 = 0.5+0.4 >
15:0/17:0 0.4+0.2 = 0.2#0.1 = 0.2+0.0 0.3+0.2 0.2#0.1 = 0.1+0.0 = 0.1+0.1 = 0.1+0.0 > + = + >
16:0/16:0 0.5+#0.1 > 0.3x0.1 > 0.1:0.1 0.7+0.2 1.4+0.2 < 0.7£0.4 = 0.8+0.2 > 0.4+0.0 < 0.7#0.1 < 1.7¢0.2 <
15:1/18:1 0.1+0.1 = + = + + + = 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = + = + =
17:1/16:1 0.1+0.0 = + = + + + > + = 0.1+0.1 = + = 0.1+0.0 = + =
15:0/18:1 1.3+0.3 > 04#0.2 = 04+04 0.2+£0.1 0.1£0.0 > 0.1£0.1 = 0.1+0.0 = 0.1+0.1 = 0.1+0.1 = 0.1+0.0 =
17:1/16:0 0.3#+0.4 = 0.3x0.1 > 0.1x0.0 0.2+£0.1 0.1£0.0 > 0.2£0.2 = 0.1+0.0 = 0.1+0.1 = 0.1+0.0 = 0.1+0.0 =
16:1/18:4 0.3+0.3 = + > + + + > 0.1£0.1 = 0.1+0.1 = + = + = + >
18:3/16:1 0.1+0.1 = 0.1x0.0 = + + + > 0.1£0.1 = 0.1+0.0 = + = + = + >
16:2/18:2 0.1+0.1 = + = + + + = + = 0.1+0.1 = + = + = + =
18:4/16:0 0.1+0.1 = + = + + 0.1+0.0 > 0.1#0.0 = 0.1+0.1 = + = + = 0.1+0.1 =
16:1/18:2 0.3+0.4 = 0.2%0.1 = + 0.1+0.0 0.1+0.0 > 0.2#0.2 = 0.2+0.1 = 0.1+0.0 > + = + =
18:3/16:0 0.3+0.2 = + = + + + > 0.1#0.1 = + = + = + = + =
18:3/16:0 0.1+0.0 = 0101 > + + + > 0.1+0.0 = 0.1+0.1 = + = + = 0.1+0.1 =
16:1/18:1 1.8+0.6 = 1.740.3 < 2.2+0.2 2.1+0.4 15+0.2 = 0.9+0.2 = 1.0+0.1 = 0.8+0.2 > 0.5+0.1 < 0.7#0.0 =
18:2/16:0 22408 = 14402 > 1.0£0.2 1.4+0.2 1.4+0.4 > 2.3+05 < 3.2+04 = 2703 < 3.2+#0.1 = 2.8+0.3 =
16:0/18:1 36x1.1 = 31+04 < 4.0:04 6.4+0.6 8.6+1.5 < 5.2+0.0 = 5.1+0.3 > 43+0.4 = 5.0+04 < 7.7#1.0 <
18:0/16:0 0.2#0.0 = 0.1+0.0 = 0.1+0.0 0.5+0.3 0.8+0.2 < 0.3+0.1 = 0.2+0.0 = 0.1+0.0 = 0.1+0.1 = 0.4+0.2 =
17:1/18:1 0.4+0.2 > 0.1+0.1 = 0.1:0.1 0.2+0.1 0.1+0.0 > + = 0.1+0.0 = + < 0.1+0.0 = 0.1+0.0 <
17:0/18:1 0.3+0.0 = 0.1+0.1 = 0.2#0.2 0.3+0.2 0.5+0.0 < 0.3+0.2 = 0.1+0.1 < 0.4+0.0 > 0.1+0.0 < 0.2#0.1 =
18:3/18:3 0.1+0.0 = 0.1+x0.1 = + + + > + = + = + > + = + =
18:2/18:4 0.2#0.1 = 0.2¢0.1 > + 0.1+0.1 0.1+0.0 > 0.1+0.1 = 0.3+0.2 > 0.1+0.1 = 0.1+0.0 = 0.1+0.0 =
16:1/20:5 0.1+0.1 = + = + + + > 0.1+0.1 = 0.1+0.1 > + = + < 0.1+0.0 =
18:2/18:3 0.1+0.0 > + > + + + > 0.1+0.0 > + = + = + > + >
18:4/18:1 + = + = 0.1x0.0 + 0.1+0.0 = 0.1+0.1 = + = + = + = + =
18:2/18:2 1.3+0.3 > 0.1+0.0 = 0.1:0.1 + 0.1+0.0 > 0.2+0.1 = 0.1+0.1 = 0.1+0.0 = 0.1+0.0 = + =
18:1/18:2 25.5+¢3.0 = 21.8+1.0 > 15.7+2.4 9.2+0.2 8.6+0.8 > 185+0.9 < 21.0+04 > 12705 > 9.4+0.6 > 4.7+1.0 >
18:1/18:1 36.1+0.9 < 54.5#2.7 < 64.2+3.0 59.9+2.0 55.7+4.1 < 54.0+24 = 55.0#1.1 < 68.7+20 = 66.4+1.0 = 63.9+39 <
100200 93113 > 3811 > 20404 36£01 < 11.0:40 = 71%11 >  48+#10 > 26404 < 55102 <  B88:08 <
18:0/18:0 0.1#0.1 = 0.1+01 = + + 0.2#0.1 = + < 0.1+0.0 = 0.1+0.1 = + = 0.1+0.0 =
18:1/19:1 0.6£0.2 > 0.3+0.1 < 1.1+0.2 5.1+0.3 3.6£0.7 < 0.2+0.0 = 0.4+0.3 = 0.7+0.1 = 0.8+0.2 = 0.9+04 <
19:1/18:1 0.4+0.2 = 0.3#0.1 < 0.9:#0.2 1.1+0.1 0.6+0.4 = 0.2+0.2 = 0.2+0.1 < 0.4+0.1 < 0.5+0.1 = 0.8+0.2 <
18:3/20:3 0.1+0.0 = + = + + + > + = + > + = + = + =
18:1/20:5 0.2#0.2 = 0.1+0.0 = 0.1:0.1 0.1+0.1 0.1+0.1 = + < 0.1+0.0 > + = 0.1+0.0 < 0.1+0.0 <
16:0/22:6 0.2#0.1 = 0.1+0.0 = + 0.1+0.1 0.2#0.3 = + = + = + = + < 0.1+0.0 =
18:1/20:1 23+0.2 > 0.7#0.2 = 0.4£0.1 0.6+0.1 0.7+0.2 > 1.4+05 > 0.6+0.2 > 0.2+0.1 = 0.3+0.1 < 0.4+0.0 >
18:1/20:0 0.3+0.2 = 0.1+0.1 = + 0.1+0.1 0.1+0.1 = 0.1+0.0 = 0.1+0.1 > + = + = 0.1+0.1 =




Table S2. Molecular species composition of MGDG, DGDG, SQDG, PG, PE, PC, PI, PHEG and DGTS of Streblonema corymbiferum and Streblonema sp. cultivated at various light intensity
(umol photons m2s™1). Values given as % of total lipid class, (mean + s.d. for triplicate). “+” —amount less than 0.1%, “-” — not detected. Between columns result of Tukey test (p<0.05, n=3)
are shown (‘“>”, “<” — statistically significant difference, “=" - no significant changes), “T” — difference between 0 and 200 pmol photons m2 s,

Streblonema corymbiferum Streblonema sp.

MGDG

5 12 20 50 100 150 200 T # 0 5 12 20 50 100 150 200 T
16:2/14:0 - < + = + = + = + = + > - < + < + > + < + = + = + = + > - < + =
14:0/16:1 + = + = + = + = + = + > + < + < + = + = + = + = + = + = + = + =
14:0/16:0 + = + = + = + = + = + > + < + = + = + = + = + = + = + = + = + =
16:3/16:4 + = + < + = + = + = + = + = + = + = + = + = + = + = + > + < + =
16:3/16:3 + = 0100 = 0.1x00 > + = + < 01x00 = 0.1#00 = 0100 < + = + = + = + = + = + = + = + <
16:2/16:3  0.3+0.2 < 0.6+0.1 > 0.4#0.1 > 0.2#0.1 < 0.6+0.1 = 05+02 = 04+0.1 < 09402 < 0.1+0.1 = 0.1+01 = 0.2+#0.2 = 0.3+#01 = 03+0.1 = 0.3%0.1 < 05+0.1 = 0402 <
14:1/18:4 + = + = + = + = + = + = + = 01+01 = + > + = + = + = + = + = + = + =
18:3/14:1  0.1+0.0 = + = + = + = + = + = + = + > + = + = + > + = + = + = + = 01+01 =
16:1/16:3  0.9+#0.1 = 1.0+0.2 = 1.0#0.2 = 0.7¢0.2 < 1.2+0.1 = 1.3¢0.2 > 09#0.2 < 14402 < 0.3+0.1 = 0.2#01 < 0.8#0.2 = 0.8+#0.2 > 0.3+02 = 0.3%0.1 = 0502 = 04202 =
14:0/18:4 0.1¥0.0 = 0.1%0.0 = 0.1#00 = 0.1+0.0 = 0.1#00 = 01+0.1 = 01x0.0 = 0.1%0.1 = 0.1+0.0 = + = 02402 = 03%02 = 01400 = 0.1#0.1 = 0.1+00 = 0.1+00 =
16:1/16:2  0.1¥0.0 = 0.1%01 = 0.2#0.1 = 02+0.1 = 0101 = 03+0.2 = 01x01 = 0.2+0.0 < + = 01401 = 0.1#0.1 = 0.3#02 = 0.1#00 < 03%0.1 = 0.2+0.2 = + =
14:0/18:3 0.2#0.2 = 0.4%01 = 0.3#0.1 = 03+0.2 = 0.3#02 = 06+0.1 = 0701 = 08+04 < 0.1+0.1 = 0.2¢0.1 = 04#0.1 > 0.2#01 = 03+0.1 = 0.3%0.1 = 0.2#01 < 0500 <
16:0/16:3 + = + = + = + < + = + = + = + = + > + = + > + = + = + = + = + >
16:1/16:1  0.1#0.1 = 0.2#0.1 < 0.5+0.2 > 0.3%x0.1 > 0.1+00 = 0.1+01 = 0.1+#0.1 = 0.1+00 = 0.1+0.0 < 0.1+0.0 = 0.1#0.1 = 0.2+#0.2 = 0.1+x00 = + = + = + >
14:0/18:2 0.1#0.1 = 0.1+0.1 = 0.1#0.1 = 0.1+00 = 0.2+0.1 = 0.1+01 = 0.1#0.0 < 0.2401 = 0.1+0.0 = 0.1+0.0 = 0.2+#0.1 = 0.2#01 = 0.1+#00 = 0.2+0.1 = 0.1+01 = 0.2#0.1 <
14:0/18:1  0.6+#0.1 < 1.1x01 > 0.8+#0.1 = 1.0+0.2 = 1102 = 14+02 = 14+00 = 16+03 < 0.6+0.1 = 09#02 = 1002 = 10+02 > 0.6+02 < 0801 = 0.8+02 < 1.4+0.2 <
16:0/16:1 + = + = + = + = + < + > + = + > + = + = + = + = + = + = + = + =
16:0/16:0 + = + = + < + = + > + = + = + = + = + = + > + < + = + = + = + =
16:1/17:3 + = + = + = + = + = + = + = + > + = + < + > + = + = + = + = + =
15:0/18:4 + = + = + = + = + = + = + = + = + = + = + = + < + > + < + > + =
15:0/18:4 + = + = + =  01x0.1 = + = + = + = + > + = + = 01+01 = 0.1+00 > + < + = + = 01%0.0 =
15:0/18:3 + = + = + =  01x01 = + = 01+00 = 0.1+00 < 0.1%0.0 < 0.1+0.1 = 0.1+00 < 0.2#00 < 0.3#00 > 0.1#00 = 0100 = 0100 = 0.2+0.1 =
15:0/18:2 + = + = + = + = + = + = + = + = + > + = + = + = + = + = + = + =
18:1/15:0 - < + > - < + = + = + = + = + = - < + > - = + = + < + = + = + <
15:0/18:1 + < + > + = + = + = + = + = 0.1+00 < 0.1+0.0 = + > + < + = + = + = + = + =
15:0/18:1 + > + < + = + = + = + = + = + = + = 01+01 = 0.1+#00 = 0101 = + = + = + = 01%0.0 =
17:1/16:0 + > + < + > - < + = + = + = + > + = + = + > - < + = + = + = + >
16:4/18:4 + = + = + = + = + = + = + = 01+00 = 0.1+0.0 > + < 0.1+0.0 = + > + = + = + = + =
16:3/18:4 0.1#0.1 = 0.1+0.1 = 0.1#00 = 0.1%0.1 = 0.1+0.1 = 0.1+00 = 0.1+#0.1 = 0.1+00 = 0.2+0.1 = 0.1+01 = 0.1+#0.1 = 0.1%0.0 = + = + < 0.1+#00 = 0.1%00 >
18:3/16:4 + = + = + > + < + > + = + = + = + = + = + > + < + > + = + = + >
18:3/16:3 0.1#0.1 = 0.1+0.1 = 0.2+#0.1 = 0.1%0.1 = 0.1+0.1 = 0.1+00 > 0.1+0.0 = 0.2#0.1 = 0.1+00 < 02401 = 0.2+#0.1 = 0.1+#01 = 0100 = 01+0.1 = 0100 = 0101 =
16:2/18:4  0.1+0.0 = 0.1+0.0 = + = 0.1+0.1 = 0.1¥0.0 = + < 0.1+0.0 > + > 0.1+0.0 = 0.1+0.0 > + = + = 0.1+0.0 > + = + = + >
16:2/18:3 + = + = + = + = + = + = + > + = + = + = + = + = + = + < + = + =
18:4/16:1 0.2#0.1 = 0.2#0.1 = 0.1#0.1 = 0.1+00 = 0.1+0.1 = 0.1+00 > 0.1#00 < 0.1+01 = 0.1+0.0 = 0.1+01 = 0100 = 0.2#01 = 0.1#01 = 01+0.1 = 0100 = 0.1+0.0 =
16:1/18:4 0.3+0.1 = 0.2#01 = 0.2#0.0 = 0.2+0.1 < 0.3#0.1 > 0.2+0.1 = 0.2+#01 = 0.2+0.0 = 0.1+0.0 = 0.1#01 = 0.1+00 = 0.1+0.0 > 0.1+00 = 01401 = 0.1#00 = 0.1+01 =
18:1/16:4 0.1#+0.0 = 0.1+0.1 = 0.1#0.1 = 0.1%00 = 0.1+00 = 0.1+00 = 0.1#0.0 < 0.2#0.1 < + = 01+01 = 0.1#01 = + = + < 01400 > 0.1+00 = + =
20:5/14:0 0.1+x0.0 = 0.1+0.0 > + = + = + = 0.1+0.1 = 0.1+0.1 = 0.1#0.1 = + = + = + = + = + = + = + = + =
14:0/20.5 0.1#0.1 = 0.1+x0.0 = 0.1#0.1 = 0.1%0.1 = 0.1+00 = 0.1+01 = 0.1+#01 = 0.1+00 = + = + = + < 01+00 > + = + = + = + =
18:5/16:0 + = + = + = + = + = + < 0.1+0.0 = 0.1#0.0 < 0.1x0.0 > 0.1x0.0 = 0.1+0.0 = 0.1+0.0 > + = + = + < 0.1+0.0 >

18:3/16:1 0.2#0.1 = 0.3x0.0 = 0.2#00 = 0.2#0.0 > 0.1x00 = 0.2¢01 = 0.1#0.1 = 0.2#01 = 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = 0.1x0.1 = 0.1+0.1 = 0.1+0.1 = 0.1x0.1 = 0.1+0.0 =
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18.6:0.5
7.4%0.1
3.5¢0.1
0.6£0.2
5.040.4
0.310.2
0.3:0.1
0.4+0.1
0.6£0.2
0.7+0.1
3.240.4
+
0.1£0.0
0.7£0.1

0.1+0.0

0.3£0.1

0.1+0.0

0.1+0.0

0.2+0.1
0.1+0.0

0.1+0.0
0.6x0.0

+
+
0.3+0.0
12.8+0.2
17.8+0.6
8.8+0.5
3.1+0.3
0.3+0.1
4.9+0.4
0.3+0.1
0.2+0.2
0.4£0.2
0.2+0.1
0.4+0.4
3.5+£0.5
+

+

0.7+0.1

0.1+0.0

0.1+0.0

0.1+0.0

0.1+0.0

0.2+0.1

0.1+0.1
0.1+0.0

+
+
0.4£0.1
13.6:0.7
17.30.1
8.5¢0.3
2,640.3
0.3:0.1
4.310.2
0.1%0.1
0.3%0.1
0.240.1
0.240.1
0.4%0.1
2.840.1
+

+
0.5:0.1
0.1£0.0
0.1£0.0
0.1£0.0
0.1%0.1
0.1%0.1
0.1£0.0

0.1+0.0

0.1+0.0
0.1+0.0

+
+
0.3+0.1
13.3+0.1
17.6+0.8
8.8+0.2
2.6+0.6
0.3+0.1
4.5+0.8
0.3+0.0
0.3+0.2
0.3+0.0
0.2+0.0
0.8+0.5
2.8+0.5
0.1+0.1
+

0.6+0.2

0.1+0.0
0.1£0.0

0.1£0.0

<

<

>

0.1+0.0
0.1+0.1
0.1+0.0
0.2+0.1

+
+
0.7£0.2
15.2+1.1
16.7+0.5
8.6+0.2
1.8+0.2
0.2+0.1
3.1+0.2
0.2+0.1
0.2+0.1
0.2+0.1
0.2+0.0
0.1+0.1
2.4+0.5
+

+

0.4+0.1

0.1+£0.0

0.1+£0.0

0.1+0.1

0.1£0.0

0.1+0.1
0.1+0.0
0.1+0.0
0.1+0.0

0.2+0.1
1.3#0.1

+
+
0.1+0.1
20.4+1.0
26.8+1.0
5.9+0.3
3.0+0.6
0.3+0.1
1.7+0.4
0.1+0.0
0.1+0.1
0.1+0.0
0.1+0.0
0.3+0.3
1.0+0.4
0.1+0.1
0.2+0.1
0.1+0.1
+

+

+

0.1+0.0
0.1+0.0
0.1+0.1
0.1+0.1

0.6+0.3
0.1+0.2

0.2+0.1
0.2+0.0
1.6+0.2

+
+
0.1£0.0
19.8+1.1
25.7+2.4
5.8+0.4
2.6:0.5
0.3:0.4
25:0.1
0.1£0.1
0.1£0.1
0.1£0.0
0.240.2
0.30.0
0.6+0.3
+
0.1£0.0
0.1£0.0

0.1+0.1

0.1+0.1
0.1+0.1
0.2+0.1
0.2+0.2

+
+
236124
23314
49405
3.2+0.6
0.5:0.1
2.7+0.6
0.1x0.0
0.120.1
0.120.1
0.120.1
0.8+0.2
0.6:0.3
+
0.1£0.0
0.240.0

0.1+0.0

0.1£0.0

0.2+0.1
0.1+0.0
0.3+0.0
0.4+0.2

+
+
0.120.0
20.7+2.8
22.2+18
5.5:0.5
3.5:0.7
0.3:0.1
3.3:13
0.420.1
0.120.1
0.120.1
0.3:0.1
0.7+0.4
0.7+0.2
+
0.1£0.1
0.240.0

0.1+0.0

>

<

0.1+0.1
0.1+0.0
0.1+0.0
0.2+0.0

+
+
0.1x0.0
17.6:1.1
22,7422
10.30.2
4.7:0.9
0.2:0.1
8.0:0.8
0.1%0.0
+

+
0.120.1
2.4+0.3
1.0£0.2

0.1+0.0
0.4+0.1
0.1+0.0
0.1+0.1

0.1x0.0

0.1+0.0
0.1+0.0
0.2+0.1
0.2+0.1

+
+
0.1x0.0
0.1x0.0
18.215
22.2+2.0
11.00.8
3.9+1.0
0.120.1
7.542.0
+

+

+
0.120.1
2.0£0.5
11201

0.1+0.1
0.4+0.1

0.1+0.0

0.1+0.1

0.1+0.0
0.1+0.1
0.3+0.2
0.1+0.0

+
+
0.120.1
20.1#2.1
23.8+1.2
10.6+0.8
3.410.5
0.120.1
6.140.5
0.240.2
+

+
0.240.1
1.3:0.0
1102
0.1%0.0
0.1%0.0
0.410.1

0.1+0.0

0.1+0.0

0.1+0.0

<

>

0.1+0.1

0.1+0.1
0.1+0.1

+
+
0.2+0.1
20.8+1.4
235+1.1
12.7+1.0
2.5+0.5
+

5.1+0.2

0.1+0.0

0.3+0.0

0.7+0.3

1.1+0.0

0.1+0.0
0.5+0.1

0.1+0.0

0.1+0.0

0.1+0.0



18:0/18:0 + = + = + = + = + > - < + - + + + + < + - + > -
18:4/19:2 + = + = + = + = + = + = + + + + + + = + + + = +
19:2/18:4 + = + = + = + = - < + > - + + + + + > - + - < +
18:3/19:2 + = + = + = 01#00 = 0.1x00 = + = + + + + + + = + + + = +
19:2/18:3 + > + = + = + = + = + = + - + + + + = + + + > -
18:4/19:1 + = + < + > + = + > + = + - + + + + = + + + > -
18:3/19:1 0.1#+0.0 = 0.1+x0.0 = + = 01+0.1 = 0.1#00 = 0.1+0.0 = 0.1#0.1 + + + + + = + + + = +
20:5/18:4 18.0+1.4 > 16.4+#0.1 = 153+1.7 = 14.840.6 > 13.3#0.3 < 14.8+0.7 = 15.0%0.7 16.6+0.7 16.2+0.8 16.0+1.2 16.1+1.9 15.0¢1.3 >  8.6+1.0 8.6x1.2 8.6+0.9 >  7.3:+0.6
20:5/18:3 10.8+0.9 = 10.9+0.7 > 85+05 = 85+#0.8 = 85+0.7 < 9.4%03 = 9.2%15 10.4+0.4 6.3+0.3 5.6+0.5 3.9£0.9 4.4+0.7 < 54404 5.7+0.5 5.6+0.2 = 5.5+0.1
20:4/18:4 3.3%0.2 < 3.6+#0.1 < 4.2+05 = 4.1+£01 > 28+#0.2 > 23+0.1 < 25%0.2 1.6+0.2 1.3+0.3 2.1+0.4 2.5+0.4 25+0.2 > 1.2+0.4 1.2+0.3 1.0£04 = 0.8+0.3
20:4/18:3 0.7#0.1 > 0.4#0.1 = 03%0.1 = 0.3#02 < 0501 = 0.6+0.1 = 0.4%0.2 0.4+0.3 0.3+0.2 0.3+0.1 0.3+0.0 0.3+0.1 = 0.3#0.1 0.4+0.2 0.5+0.2 = 0.5+0.1
20:5/18:2  4.1+0.1 > 3.7#0.2 = 3.7¢0.3 = 3.8+#0.1 < 45+02 > 3.8+04 = 3.7+x0.3 2.7+0.4 2.1+0.2 2.1+0.2 1.5+0.4 24406 = 3.0:£0.1 3.0£0.4 2.3x0.2 > 1.8+0.2
20:3/18:3 0.44#0.1 > 0.2+#0.1 < 04200 = 0.3#0.1 = 04%01 = 0.3%0.1 = 0.4£0.2 0.3+0.2 0.1+0.0 0.1+0.1 0.2+0.1 0.2+0.1 < 0.5%0.2 0.5+0.1 0.5¢0.1 > 0.2+0.1
20:4/18:2 0.4+0.2 > 0.1#0.1 = 04402 = 03#0.1 = 04402 = 03+0.2 = 0.4%0.2 0.2+0.2 0.3+0.2 0.4+0.2 0.2+0.0 0.3+0.1 = 0.4#0.2 0.4+0.3 0.1+0.0 > 0.1+0.0
20:5/18:1 25+04 = 27#05 > 1.7¢03 = 15#0.1 < 2002 < 25+04 = 23#02 2.1+0.2 0.6+0.3 0.3+0.2 0.3+0.1 0.2+0.1 = 0.2#0.1 0.3+0.1 0.3x0.0 = 0.3:+0.1
20:3/18:2 0.1x0.0 > 0.1#+0.0 = 0.1+01 = 0.1#0.0 = 0.1#01 = 0.1+0.1 = 0.1%0.1 + + + 0.1+0.0 + < 02+0.1 0.2+0.1 0.1+0.0 > 0.1+0.0
20:4/18:1 0.3+0.1 = 0.2+#0.1 = 01+01 = 0.2#00 < 03%0.0 = 0.3%00 > 0.2#0.1 0.2+0.1 0.1+0.1 + + + = 0.1+0.0 0.1+0.0 + = 01x0.0
20:4/18:1 0.7¢0.1 = 04402 = 04+02 = 06+0.1 < 0.7401 > 0.5+0.1 = 0.6x0.2 0.2+0.1 0.1+0.0 + + + < + 0.1+0.0 0.1+0.0 > +
20:5/18:0 + =  01x0.1 = + > + = + = + = + 0.1+0.1 0.1+0.1 + + + = + + + = +
20:3/18:1 + = + < 01+00 = 0.1#00 = 0.1#01 = 0.1x0.0 = 0.1x0.0 0.1+0.1 + + + + < 0.1+0.0 + + = 0.1+0.0
20:5/20:5 0.4+0.2 < 0.6+0.1 > 04+01 = 04#0.1 = 05+01 = 05+0.3 = 0.5%0.2 0.7+0.3 1.3+0.2 1.740.2 1.440.1 1.6+0.2 > 0.7+0.0 0.8+0.2 0.8+0.2 = 0.6+0.2
20:5/20:4 0.2#0.1 = 0.1#0.0 = 0.2¢0.0 > 0.1+#0.1 = 0.1x01 < 0.2#0.1 > + 0.1+0.0 0.1+0.1 0.2+0.1 0.3+0.1 0.3x0.1 > 0.1x0.0 0.1+0.0 0.1x0.0 = 0.1x0.0
20:4/20:5 1.940.2 = 19#01 = 1.7¢04 = 15+#0.1 = 15+01 < 1.9#00 = 1.7+03 1.7+0.3 3.2+0.2 3.3x0.5 2.8+0.3 3.3:x04 > 1.9+0.2 1.7+0.2 1.7+01 > 1.3+0.3
20:3/20:5 04402 = 0.2+#0.1 < 03x0.1 = 04#0.1 > 03%0.0 = 0.1+01 = 0.2#0.1 0.2+0.1 0.4+0.2 0.3x0.1 0.1+0.0 0.2¢0.1 > 0.1x0.1 0.1+0.1 0.1+0.1 = 0.1%x0.1
20:4/20:4 2.3+0.1 = 25+#0.2 > 21+03 = 20£0.2 < 23x01 > 21+02 = 2.1£0.2 1.5+0.2 1.8+0.4 2.3+0.3 1.6+0.4 1.8+0.3 > 1.4+0.1 1.3+0.4 1.0£0.1 > 0.6x0.2
20:4/20:3  0.1#0.0 = 0.1x0.0 = + = + = + = + = + + + 0.1+0.0 + 0.1x0.0 > + + + = +
20:3/20:4 + = + = + = + = + = + = + + + + + + = + + + = +
Streblonema corymbiferum Streblonema sp.
DGDG
0 5 12 20 50 100 150 200 0 5 12 20 50 100 150 200
14:0/16:1  0.1#0.0 = 0.1+01 = 0.1#0.0 = 0.1+0.1 = 0.1#00 = 0.1#0.0 = 0.1+0.1 0.1+0.0 0.1+0.0 0.1+0.1 + 0.2¢0.1 = 0.1¥0.0 + 0.1+0.0 = 0.1%x0.1
14:0/16:0  0.1+¥0.1 = + = + = 0100 > + = + = + + 0.1+0.0 0.1+0.0 0.1+0.0 0.1+0.1 = 0.1%x0.1 + + = +
16:1/16:4 0.1#0.1 = 0.1x0.0 = + = + = + < 0.1+x00 = + + 0.2+0.0 + + + = + + + = +
16:3/16:1 + = 0100 = 0.1%x00 = + = + = + = + + 0.2+0.1 + 0.1+0.0 + = + 0.1+0.0 + = +
14:0/18:4 0.3#+0.2 = 0.1+0.0 < 03#0.1 = 0.2+0.1 > 0.1#00 = 0.1%0.1 = 0.1#0.1 0.1+0.0 0.1+0.0 0.1+0.1 0.4+0.6 0.1+0.1 = 0.1+x0.0 0.1+0.1 0.2¢0.2 = 0.1%0.1
16:1/16:2 0.3#+0.2 = 03+0.1 = 03+#0.1 > 0.1+00 = 0.1+0.1 = 0100 = 0.1+0.1 0.2+0.1 0.1+0.1 0.1+0.1 0.2+0.1 0.1+0.1 = 0.1+x0.0 + 0.1+0.1 = 0.1+x0.0
14:0/18:3 17404 < 24404 = 26+04 = 2303 > 1902 = 1.9%0.1 = 2.0+0.6 2.6+0.1 1.8+0.4 2.4+0.8 4.7+0.8 4.0+09 > 2.3+0.6 2.5%0.5 2504 = 21#0.2
16:1/16:1  0.1#0.1 < 0.7#0.3 = 0.9+#04 = 0.6x03 > 0.2#0.2 = 0.3%0.2 = 0.2#0.0 0.1+0.0 0.5+0.1 0.6x0.4 0.8+0.5 0.4+0.1 > 0.1+0.0 0.1+0.1 0.1+0.1 = 0.2#0.1
14:0/18:2 0.740.2 = 04402 = 0.3+0.2 < 0.8+0.2 > 0.2+0.1 = 0.4+02 = 0.5%0.2 0.3%0.2 0.4+0.2 0.3%0.1 1.5+0.2 14401 > 0.5+0.2 0.4+0.2 0.5¢0.1 > 0.2+0.2
14:0/18:1 12405 < 3306 = 3.3#0.2 = 3.2+03 > 2306 = 2501 = 25+0.2 2.1+0.2 2.3+0.4 2.1+0.5 2.0£0.1 1.9¢0.3 > 0.7+04 0.5+0.3 0.7¢0.3 =  0.4%0.2
16:0/16:1  1.1+0.0 > - # - < + > - # - # - + 0.1+0.0 - + + = + 0.2+0.2 + = 0.2+0.3
16:0/16:0 - < + > + = + = + = + = + + 0.1+0.0 0.1+0.0 + + < + + - < +
15:0/18:4 - < + = + = + = + > + = + + - 0.1+0.0 0.1+0.0 0.1+0.0 = + + + = +
15:0/18:3  0.1#0.1 = + = 01+00 = 0.1%01 = + = + = + 0.1+0.1 0.2+0.1 0.3%0.2 0.1+0.0 0.2+0.0 > 0.1+0.0 0.1+0.1 0.1+0.1 = 0.1x0.1
15:0/18:2 + = + = + = + = + = + > + + 0.1+0.0 + 0.1+0.1 + > + + 0.1+0.1 = +



15:0/18:1
16:3/18:3
18:4/16:2
16:2/18:3
18:4/16:1
20:5/14:0
16:1/18:3
16:0/18:4
16:1/18:2
14:0/20:3
16:0/18:3
16:0/18:2
16:0/18:1
20:5/16:4
18:4/18:4
18:3/18:4
20:5/16:2
16:3/20:4
18:3/18:3
20:5/16:1
18:3/18:2
20:4/16:1
20:5/16:0
18:2/18:2
18:3/18:1
20:4/16:0
16:0/20:4
18:2/18:1
20:3/16:0
16:0/20:3
18:0/18:3
18:1/18:1
18:0/18:2
18:0/18:1
18:2/19:3
18:3/19:1
20:5/18:4
20:5/18:3
20:4/18:4
20:4/18:3
20:5/18:2
20:3/18:3
20:4/18:2
20:5/18:1
18:3/20:2
20:4/18:1

0.1+0.0
0.1+0.0

0.1:0.1
0.1:0.0
0.2+0.1
0.5:0.1
0.4+0.2
0.1:0.1
0.2+0.1
1.4:0.2
0505
05:0.1
11:0.2
5.8:0.7
34105
0.2:0.2
14.240.4
1.4:0.7
4.1:0.6
0.1:0.0
1.6:0.2
0.2¢0.3
1.8:1.1
+
0.1:0.0
0.2+0.0

0.1+0.1
0.2£0.1

0.1+0.0
0.1+0.1
27.3£1.3
19.7¢1.1
3.3£0.4
2.2£0.0
2.2+0.3
0.1+0.0
0.2£0.1
1.0£0.2
0.2£0.2
0.1+0.2

>

A

A

0.1+0.1
0.1+0.1
0.2+0.2
0.1+0.1
0.2+0.1
0.1+0.0
0.5+0.1
0.2+0.1
0.1+0.1
0.1+0.1
1.0£0.2
0.1+0.1
0.60.2

0.9£0.2
4.0£1.7
2.240.7
+
11.2¢15
3.740.7
2.9£0.1
0.1%0.1
1.7:0.2
0.240.1
2.310.5
+
0.240.1
0.240.1

0.1+0.0
0.1+0.1
0.1+0.0
0.1+0.1
0.1+0.1
29.3+1.9
18.6x0.7
4.6+0.6
1.840.6
2.2£0.7
0.1+0.1
0.3£0.2
2.0£0.1
0.1+0.0
0.1£0.1

0.1+0.1
0.1+0.0

0.1+0.0
0.1+0.0
0.1+0.1
0.3+0.0
0.3+0.1
0.1+0.0
0.1+0.0
1.8+0.3
0.1+0.1
0.7x0.4

1.3+0.3
3.2+0.8
1.9+0.3

7.0£1.0
4.0x0.5
2.6x0.4
0.2+0.0
1.8+0.5
0.1+0.1
2.2+0.7

0.310.1
0.1+0.1
0.1+0.0
0.1+0.1
0.2+0.2

0.2+0.2
0.1+0.0
31.4£1.9
18.2+1.0
5.5+0.3
3.4£13
2.9+0.5
0.1+0.0
0.4£0.1
0.7£0.2
0.1+0.0
0.2£0.1

0.1+0.0

0.1+0.1

0.1+0.0
0.3+0.1
0.3+0.1

1.8+0.5
0.2+0.1
0.9+0.3

1.1+0.2
2.4£1.2
1.8+15

7.620.8
2.620.6
3.1x0.1
0.1+0.0
2.0£0.3
0.3+0.0
1.6+0.4

0.4+0.2
0.2+0.0
0.1:0.0
0.1:0.0
0.3:0.2
0.1:0.1
0.2¢0.1
+

+
33.1:1.2
16.5¢1.7
6.4+1.2
4.2:0.8
1.6:0.3
0.1:0.1
0.5:0.3
2.2:0.2
+

0.2£0.1

37.1£1.2
20.0+0.4
5.2£0.1
2.5+0.3
3.4£0.3
0.1+0.0
0.4£0.1
3.1£0.3
+

0.4£0.2

0.2+0.1
0.2+0.1
0.1+0.0

0.1+0.1
1.4+0.2
0.2+0.0
0.7+0.2

1.9+0.1
1.4+0.3
2.9+0.4

5.7+0.2
1.4+0.6
1.4+0.3

0.9+0.1
0.1+0.1
0.6+0.2

0.1+0.0
0.1+0.1

0.1+0.1

0.1£0.0
+

+
39.3:0.9
22.3:0.7
5.040.5
4,0£0.3
1.0:0.4
+
0.3:0.0
2.7:05

0.2£0.1

0.1+0.0

0.1+0.1
0.2+0.1
0.1+0.0

1.3#0.2
0.1+0.0
0.7+0.1

1.6+0.3
3.1x0.6
1.5+0.1
0.1x0.1
6.0£0.4
1.7+0.5
1.3#0.1

0.9+0.2
0.1+0.0
1.0+0.2

0.1+0.1

0.1+0.1

0.1+0.1

0.1%0.1
+

+
39.8+2.8
22.2+0.9
4.1%0.3
2.8+2.0
2.9:0.4
+
0.440.3
1.3:0.1

0.4£0.2

0.1+0.0

0.1+0.0

0.3+0.1
0.3+0.1
0.1+0.0

2.0£0.2
0.2+0.0
0.9+0.0

1.6+0.2
3.020.5
1.4+0.6
0.1x0.1
6.1+0.6
1.0+0.3
0.620.2

0.7+0.3
0.1+0.0
0.5+0.1

0.1£0.0
+
421205
23.8+1.0
3.3:0.9
2.0:0.9
1.2:0.2
0.1£0.1
0.1£0.1
2.1:0.3
+

0.1£0.0

0.1+0.0
0.1+0.0

0.1+0.0
0.1+0.1

0.5+0.4
0.2+0.0
0.4£0.0
0.2£0.1
1.2#0.3
0.4+0.2
3.320.6
1.7+0.2
8.0£1.8
1.5+0.9
0.4+0.3
16.5+0.6
0.5+0.2
4.7+1.3
0.2+0.1
0.5+0.1
0.2+0.0
1.9+0.6
0.1+0.1
0.3+0.1
0.2+0.1
0.1+0.1
0.1+0.0
0.4+0.4
0.1+0.0
0.1+0.0
0.1+0.1
0.5+0.3
0.2+0.2
27.9+2.5
14.6+1.6
3.5+0.4
2.1+0.6
0.8+0.2
0.3+0.2
0.2+0.0
0.7£0.4
0.1£0.1
0.4£0.2

0.1+0.0
0.1+0.0
0.1+0.0
0.1+0.1

0.1:0.0
0.2:0.2
0.3:0.1
0.1:0.0
0.2:0.2
4.6:0.4
1102
2.2+0.6
0.6:0.3
5.8£0.6
0.5:0.2
0.2:0.2
13.02.4
2105
3.4+1.0
0.5:0.2
0.6£0.2
0.3:0.1
0.7:0.2
0.2:0.2
+
0.2:0.0
0.1:0.0
0.1:0.0
0.1:0.0
0.120.1
0.2:0.3
0.2:0.1
0.4:0.3
0.1:0.0
34.8:3.9
14.2:1.4
3.7:0.5
13t0.4
1103
+
0.2:0.1
0.3:0.1

0.1+£0.0

0.1+0.0
0.1+0.1
0.1+0.0
0.1+0.0
0.1+0.0
0.1+0.0
0.2+0.1
1.4+0.4
0.1+0.0
0.3+0.4
5.6+0.1
0.6x0.4
1.4+0.3

0.9£0.3
3.240.2
2.120.6
+
10.30.8
1.9:0.6
3.8£0.6
0.120.1
0.7:0.1
0.2:0.1
0.5:0.2
0.3:0.2
0.1:0.0
0.1:0.0
0.1:0.0
0.2:0.2
0.2:0.1
0.120.1
+
0.1x0.0
0.2:0.1
0.120.1
33.7+3.0
11.8+2.8
6.2+0.4
1.4+0.6
1.3:0.4
0.1£0.0
0.1£0.0
0.240.1
+

0.1£0.0

0.1+0.1

0.1+0.0
0.1+0.1
0.1+0.0
0.1+0.0
0.4+0.1
1.5+0.5

0.1+0.0
5.5+0.8
1.0£0.2
1.7+0.5

1.310.2
4.240.9
1.0£0.5

+
10.9:0.4
1.7+0.3
3.4£0.5
0.2:0.1
0.3:0.2
0.120.1
0.6£0.2
0.120.1
0.1:0.0
0.120.1
+
0.2:0.1
0.3:0.1
+

+
0.120.1
0.4:0.3
0.1:0.0

33912

115:0.3
6.8+2.1
1.9:0.6
1.2+0.2
0.1£0.1
0.1£0.1
0.240.1
0.1£0.0
0.1£0.1

0.1+0.0

0.120.1
0.120.0
0.4%0.3

+

+
4.8+1.0
1.0:0.6
1.4:0.4
0.120.0
1.0:0.4
2540.8
1.9+0.1
0.120.1
14.0+2.8
1.4:0.4
5.240.6
0.120.1
0.240.2
0.410.3
0.6£0.3
0.2:0.1
+
0.1%0.0
0.120.1
0.2:0.1
0.2:0.1
+
0.120.1
0.1x0.0
0.2+0.2
0.1x0.0

31537

17.6+2.6
4.4+2.2
4.3:0.8
0.7+0.3
0.1%0.0
0.410.2
0.3:0.1

+

0.1+0.1

0.1+0.0
0.1+0.1

0.20.0
0.5:0.2
0.10.0
0.20.2
5.4+0.8
1.310.2
1.5:0.4

+
1.0£0.1
3.70.8
1.0£0.5
0.20.2

125+1.1
1.0£0.6
4.7:1.1
0.1£0.0
0.4£0.1
0.4£0.3
0.9:0.1
0.1£0.1

+
0.20.1
0.1£0.1
0.1£0.1
0.4£0.1
0.1£0.0
0.1£0.1
0.1£0.0
0.1£0.1
0.1£0.0

30.5¢2.8

19.415.5
45:2.1
41207
0.5:0.1
0.1£0.1
0.1£0.0
0.20.2
0.1£0.0

+

13.1+0.9
05:0.1
3.240.2
0.120.1
0.240.1
0.240.1
0.740.5
0.120.1
0.1%0.0
+
0.1x0.0
0.240.1
0.410.3

0.1%0.2
+
0.1%0.0
0.1%0.0
33.0:3.4
19.3+3.8
45+0.9
2.4%0.1
0.940.2
+
0.240.0
0.210.1

0.1+0.1

0.1+0.0
0.1+0.1
0.2+0.1
0.1+0.1
0.1+0.0
5.7+0.2
1.2+0.2
2.2+0.5

1.4:0.6
4.0£0.4
0.5:0.3
+
12.1+15
0.4:0.3
1.7:0.4
0.1x0.0
0.120.1
0.120.1
0.410.1
+

+

0.1+0.0

0.3:0.2
0.410.3
+

+
0.120.1
0.240.2
0.1%0.0
37.0£1.7
21.6+1.2
2.4+0.6
1.3:0.2
1.6:0.3
+
0.120.1
0.2+0.1



20:3/18:1 0.1+0.0 = + + = + = + = + + = + = 0.1+0.0 = + = + 0.1+0.0 + = + = + 0.1+0.0 =
18:1/20:2 - < 0.1+0.1 + = + = + > + + > - # 0.1+0.0 = 0.1+0.0 = + + - < + = + + >
Streblonema corymbiferum Streblonema sp.

SQDG

0 5 12 20 50 100 150 200 T 0 5 12 20 50 100 150 200 T
14:0/14:0 0.3+0.1 = 0.4+0.3 0.3+0.3 = 0.5+04 = 0.3+0.2 = 0.4+0.2 0.5+0.0 = 0.3+0.1 = 0.4+0.2 = 0.5+0.2 = 0.3+0.2 0.4+0.1 0.2+0.1 < 0.4+0.2 = 0.3+0.0 0.1+0.1 >
14:0/16:1 0.7+0.0 < 1.3+0.3 0.9+05 = 0.6x0.1 < 1.1+0.3 = 1.2+0.2 1.2+0.3 > 0.7+0.3 = 0.6+0.2 = 0.4+0.3 < 0.9+0.2 0.6x0.2 0.5+0.1 < 0.7+0.1 = 0.7+0.3 0.3+0.2 =
14:0/16:0 2.6x0.4 < 4.6+1.2 41+1.1 = 5.1+0.8 > 3.3x0.2 = 2.9+0.4 3.2¢1.3 > 1.7#0.5 > 6.1+1.2 > 4.1+1.2 < 6.8+0.7 5.6+0.7 3.9+06 = 35+1.2 = 4.7+0.8 3.7£0.9 >
16:1/15:0 0.2+0.0 > 0.1+0.1 0.3+0.2 = 0.2+0.1 = 0.2+0.1 = 0.3+0.2 0.1+0.0 < 0.3+0.2 = 0.2+0.1 = 0.3x04 = 0.2+0.0 0.2+0.1 0.2+0.2 = 0.2+0.1 = 0.1+0.1 0.1+0.1 =
16:0/15:0 - # + 0.1+0.1 = 0.1+0.1 = 0.1+0.1 = + 0.1+0.0 = 0.1+0.0 # 0.1+0.1 = 0.2£0.2 = 0.1+0.2 0.1+0.0 0.1+0.1 = 0.1+0.1 = 0.2+0.1 0.1+0.0 =
14:0/18:3 1.7+0.8 = 2.3+0.1 2.6+09 = 2.1+04 = 25+06 = 2.6+0.3 2.8+0.6 = 2.2+0.2 = 0.4+0.1 < 1.2+0.6 = 1.6+0.8 1.7+0.2 14+04 = 1.1+04 = 1.2+0.3 1.2+05 <
14:0/18:2  2.0+0.4 <  2.7:0.1 4604 = 4711 = 56:07 > 45:0.8 5.0£1.6 > 29%0.6 < 02+0.0 < 26:03 < 4.2+11 3.710.7 4406 = 3807 = 3.7x0.7 22804 <
iggﬁgi 18.8+1.2 = 20.4#15 18.9+1.6 > 16.2+1.1 < 20.2£+05 = 19.8+1.2 18.3+1.3 = 17.8#1.0 = 8.7+0.6 > 6.5+1.1 < 9.3+0.7 8.7+1.0 7.9+0.6 > 6.0£1.4 < 7.8+0.8 6.6£1.0 >
16:1/16:0
16:0/16:0 0.3+0.1 < 0.5+0.1 1.0+04 = 0.5+0.2 > 0.3+0.1 = 0.2+0.2 0.4+0.2 = 0.4+0.1 = 3.9+0.6 < 5.6+0.7 > 4.0£0.5 3.8+0.4 3.8+05 = 4.0+06 = 4.0+0.2 4.4+04 =
15:0/18:3 0.2£0.1 = 0.1+0.1 0.1+0.1 = 0.1+0.0 = 0.1+0.1 = 0.2+0.1 0.1+0.0 < 0.2#0.1 = 0.1+0.1 = 0.1+0.0 = 0.1+0.1 0.2+0.1 0.1¥0.0 = 0.2£0.1 = 0.1+0.1 0.2£0.1 =
15:0/18:2 0.4+0.3 > 0.1+0.1 0.2£0.1 = 0.2£0.1 = 0.2£0.1 = 0.1+0.0 0.3+0.2 = 0.2#0.1 = 0.3+0.2 = 0.1+0.2 = 0.2+0.0 0.2+0.1 0.6+0.2 > 0.3+0.2 = 0.3+0.1 0.3+0.1 =
15:0/18:1 - # 0.1+0.1 0.4+03 = 0.5+0.3 = 0.4+0.2 > - 0.4£0.0 = 0.3+0.0 # + = 0.1+0.1 < 0.4+0.0 0.4+0.0 0.3+0.2 = 0.1+0.0 > - 0.1+0.1 =
17:1/16:0 0.4+0.0 = 0.4+0.2 0.3+0.3 = 0.5+05 = 0.4+04 = 0.8+0.2 0.5+0.3 = 0.6+0.2 < 0.4+0.2 = 0.2#0.1 = 0.5+0.4 0.3+0.1 0.2+0.1 < 0.5+0.0 = 0.4+0.2 0.2£0.0 =
14:0/20:;5  0.1x0.0 > + - < 0100 > + < + + = + > 0.1+0.0 = + < 0.1x00 + - < + = + 0.1x0.0 =
16:1/18:3 + = 0.1+0.0 0.1+0.0 = + = 01+01 = + 0.1£0.1 > - > 0.1#00 = 0.2+03 = 0.1£0.1 + + < 01x01 = + + >
20:4/14:0 - # 0100 0.1+0.0 = 0.2+0.1 > + > + 0.1£0.1 = + # 02400 = 0.2+0.2 = + 0.1+0.1 0.1+0.0 = 0.1+0.1 = + 0.1+0.0 >
14:0/20:4 - # 0.2+0.0 - < 01x00 = + = 0.1£0.0 0.1#0.0 = 0.1+x0.0 # 0.1£0.0 = + = 0100 0.1+0.1 + = + > - 0.1+0.0 =
18:3/16:0 12.6+0.7 > 11.5x0.7 92422 = 10.7#1.0 = 9.9#1.6 = 11.7#09 11.0#1.1 = 13.1%29 = 241+23 = 23.8x11 > 22.3+08 22.5+2.0 145+1.8 = 14.7#16 = 156+1.2 15105 >
18:2/16:0 7.9+0.3 = 7.0x1.1 7809 = 7.7#19 = 75+10 > 6.0£04 6.2+0.6 > 4.4x03 > 16.2#1.3 = 15713 > 14.0+1.0 14.6+1.3 17614 = 158+1.2 > 13.6+1.2 10.4+0.6 >
18:1/16:0 43.4+¥1.4 > 40.9+1.6 40.3#2.1 = 415+1.8 = 40.0+1.2 < 42418 42.6+4.8 = 46.6+4.0 = 324441 = 31.9+#25 = 29.2+1.9 31.6+4.2 37.7#2.3 < 42133 = 414432 49.8+3.1 <
18:1/16:0 3.7#0.0 =  3.2+0.7 3.9+09 = 32+08 = 25+09 = 25+04 2.8+1.2 = 3514 = 2.0+09 = 22406 = 28x0.2 2.7+0.1 25+05 = 24402 = 1.9%0.7 2.0+0.6 =
18:0/16:0 0.6+0.5 =  0.4+0.5 0.4+05 = 0.1+0.1 = 01401 = 0.1+0.0 + < 02+#01 = 0.1#0.1 = 0.3+0.3 = 0.1+0.1 0.1+0.1 0.1+0.0 = 0.2#0.2 = 0.2+0.1 0.1+0.0 =
16:0/19:1  0.3+0.1 = 0.2+0.2 0.2#0.3 = 04+04 = 0.3#0.1 = 0.3+0.2 0.3+0.3 = 04#03 = 0.2#0.2 = 0.2+0.2 = 0.1+0.0 0.1+0.1 0.2#0.2 = 0.1#00 < 0.3+0.2 + =
17:0/18:1 - # 0100 0.2#0.1 = 0.1+0.0 = 0.1x00 > + 0.2#0.0 = 0.1+0.1 # - # - < 0.1%0.0 0.1+0.0 - # - # - - #
18:4/18:4 0.5+0.3 >  0.1+0.0 0.1#0.1 = 0.1+0.1 = 0.1#0.1 = + 0.1#0.1 = 0.1+0.1 > 0.1#0.1 = + = + + 0.1+0.1 = 0.1+0.1 = + 0.1+0.0 =
18:3/18:4 0.3+0.2 = 0.3x0.1 0.3+0.1 = 0.2#0.1 = 0.3#0.1 = 0.2#0.1 0.3+0.2 = 0.3+0.1 = 04+02 = 0.8+0.8 = 0.3#0.2 0.2+0.2 0.4+0.3 = 0401 = 0403 0.4+0.1 =
18:3/18:3  0.3+0.0 = 0.5%0.3 0.4+03 = 06+0.2 = 0.6+0.1 = 0.7#0.1 0.8#0.1 = 0.6+0.2 < 0.740.5 = 04+0.0 < 0.6+0.1 0.5+0.1 0.4+0.2 = 0.7405 = 0.6+0.1 0.4+0.1 =
18:2/18:4  0.1¥0.1 = 0.1+0.1 0.1+0.0 = 0.1+0.0 > 0.1#0.0 = 0.1+0.1 0.1#0.2 = 0.1+0.1 = 04401 = 0.3+0.0 = 0.1+0.1 0.2+0.2 0.2#0.1 = 0.1+#0.1 = 0.1:0.1 0.1+0.0 >
18:3/18:2  0.3+0.2 >  0.1+0.0 1.0+0.0 > 0.1+0.0 = + < 0.1£0.0 - < 01+00 > 0.1#0.0 < 1.5+0.0 > + 0.1+0.1 - < 01#00 < 0.4%0.0 0.1+0.1 =
18:2/18:3  0.4+0.2 = 0.3x0.1 0.3+0.0 < 1.0+0.1 = 1.0+¢0.3 > 0.5+0.2 0.7#0.3 = 05+0.2 = 0.2#0.1 = 0.7+0.2 = 0.6+0.1 0.4+0.3 1302 = 1.2+#0.2 > 0.8%0.2 0.6+0.2 <
18:1/18:4 - # 0100 0.2#0.0 > + = 0.1+0.0 = + - # - # 0.1+0.0 > - < 01%0.0 0.1+0.1 0.1+0.0 > + < 0.1+0.0 - >
20:5/16:0 0.4+0.1 >  0.1+0.0 0.2#0.1 = 0.2+#0.1 = 0.1#00 = 0.1+0.1 + = + > 0.1#0.1 = 0.1+0.1 = 0.1+0.1 0.1+0.0 0.1+0.1 = + = 0.1%0.0 + =
18:3/18:1  0.1+0.0 < 0.6x0.3 0.2#0.1 < 0.6+0.1 = 0.6£0.7 = 0.7#0.2 0.5+04 = 05+0.3 < 0.1#0.1 = 0.3+0.2 = 0.2#0.2 + 0.1+0.1 = 0.3+0.3 = 0.3:0.1 0.2#0.1 =
18:0/18:4  0.1+0.0 = 0.1+0.0 0.2#0.0 > 0.1+0.0 = + = 0.1£0.0 0.1+0.1 = + > 0.240.0 = 0.1+0.0 = + 0.1+0.0 0.1+0.0 = + = + + >
18:2/18:1  0.1¥0.1 = 0.2+0.1 0.1+0.1 = 0.2#0.0 = 0.1#0.2 = 0.1:0.1 0.3+0.3 = 0.2+0.2 = 0.1#0.1 = 0.1+0.1 = 0.1+0.0 0.2+0.2 0.1+0.0 = 0.1+00 = 0.1%0.1 0.1+0.0 =
20:3/16:0 0.1+0.1 = 0.2#0.1 0.1+0.1 = 0.1+0.1 > + = 0.1+0.0 0.1#0.0 < 0.2+0.0 = 0.2#0.1 = 0.2+0.2 = 0.1+0.1 0.1+0.1 + < 0.1+01 > + 0.1+0.0 =
16:0/20:3  0.1+0.0 > + 0.1+0.0 = 0.2+0.1 = 0.1+#0.1 = 0.1+0.1 0.1+0.0 = 0.2#40.0 = 0.2#0.1 = 0.2+0.1 = 0.1x0.0 0.1+0.2 + < 02401 > 0.1+0.0 0.1+0.0 >
18:1/18:1  0.3+0.0 = 0.3x0.0 0.1+0.0 = 0.3+0.2 = 0.4402 > 0.2#0.1 0.3+0.2 = 04%0.2 = 0.1#0.1 = 0.2+0.2 = 0.1#0.1 0.2+0.0 0.2#0.1 = 0.3+0.3 = 0.2+0.0 0.5+0.0 <
20:2/16:0 0.2#0.1 =  0.1+0.0 0.3+0.2 < 05+0.1 = 0.3%0.2 = 0.3+0.2 0.3+0.1 = 0.3+0.2 = 0.1#0.1 = 0.2+0.2 = 0.1#0.0 0.1+0.0 0.1+0.0 = 0.1#00 = 0.1+0.0 0.1+0.1 =



18:0/182 04%02 = 02:00 < 0.5:0.2 05:04 = 04:01 > 0100 0.2¢0.1 01:0.1 > 01+0.1 01:00 = 01:00 = 0101 0.4+0.2 01:01 = 01#00 = 0101 =
18:0/18:1 + < 0100 < 02:01 01:01 < 03:00 = 02:01 0.2¢0.1 03t0.3 = 0.1+0.0 01:00 = 0.1%00 = + 0.10.0 + = 0100 = 0.1%00 =
16:0/200 01%0.0 = 01:00 = 0.1#0.1 0101 = + = + 0101 02£0.2 = 0.2¢0.1 v o= v = + 0.10.0 0100 = + = . =
20:5/18:4 02£0.0 > 0.1%00 = 0.1+0.0 0101 = 02:00 > 0101 0.2¢0.1 02£01 = . 01:01 = 01201 = 0201 0.20.1 02:0.2 = 01#00 = 02:02 <
20:5/18:3 0101 = 01400 = 0.1+0.0 0100 = 01201 = + 0.1+0.1 02t01 = 0.40.0 + = 01200 > + + + = + = 0100 >
20:4/18:4 0100 = 0.1%00 = 0.1+0.0 + = + = 01200 + - s 0.3£0.0 + = 01200 = 0101 0.10.0 + o= + = + >
20:5/20:5 - - < 01+00 - - < + . + # ; < + = + ; + > - -
20:5/20:4 - - < + 0100 > - < + . - # 0.3£0.0 < + > + 0.10.0 + = + = + >
20:4/20:4 - #0100 > : 0100 > - < + . 0100 # 0.1+0.0 - < 01:00 > + 0.10.0 - - # .
16:0/240 01%00 = 01:01 = 0.1#0.1 0100 = 01201 = + + 01102 = 0.1+0.0 + o= + = + 0.1£0.1 0100 = + < 02:01 =
Streblonema corymbiferum Streblonema sp.

Fe 0 5 12 20 50 100 150 200 T 0 5 12 20 50 100 150 200 T
16:1/150 02401 = 02:01 > 0.1£0.0 + < 0100 = 0101 0.10.0 02t01 = 0.2¢0.1 + < . > + 0.1+0.1 0100 = + < 04401 <
16:0/15:0  0.1:0.0 > + < + + = 0101 = 02400 01+0.1 0402 < 0.440.2 0100 > + < 01:00 0.1+0.1 02:01 < 08402 > 0400 =
18:3/14:0 04#01 < 06:0.2 > 03202 03t02 = 03:01 = 0302 0.3+0.3 02t01 = 050.4 02:00 = 01:01 = 0201 0.1+0.1 0101 = 02400 > 0100 >
14:0182 02401 = 01:01 = 02401 02£0.0 = 04:02 = 0201 0.3+0.3 0101 = 0.7+0.1 04:01 > 01200 = 0101 0.1+0.1 + = 0100 < 02400 >
140181 02402 < 05:01 > 02401 02£0.0 < 04:01 = 04+0.2 0.4+0.3 02t01 = 0.440.2 03:01 > 01:01 = 0201 0.20.1 0101 = 02400 > 0100 >
16:0/16:1  01%0.1 = 02:02 = + 0101 = + = 0100 0.3£0.2 02t01 = 0201 + = 01201 = 0101 0.20.1 0100 = 02402 = 03t01 =
17:016:1 01400 > + = 01$00 + < 01$00 = + 0.1+0.0 0101 = 0.1+0.0 0100 = + = + 0.10.0 0101 < 03%00 > 0100 =
18:3/16:1  7.1402 > 55:07 >  3.640.2 43t05 = 55:18 < 9.6:0.8 6.9:17 < 136:41 < 25:0.4 14101 > 07:02 = 0940.1 41212 49:04 < B84+18 < 145:08 <
18:3/16:0 239406 < 202:12 < 32.2420 = 324:09 > 20.4:08 > 187+0.6 = 10.6:12 = 17.8:2.1 >  246:09 < 27.5:0.2 = 27.6:16 = 28.4+10 = 26.0:39 = 230+1.1 = 242:27 > 181+27 >
181161 02402 = 01:01 = 0.1#0.1 01:01 = 01:01 = 0200 0.2:0.1 06:0.2 < 3.0£0.8 20£1.1 > 06:01 = 0.7:0.1 0.40.1 05:01 > 03:02 < 09:04 >
11%?2//118(;:26 53t05 > 4702 < 56:0.4 56:02 = 56:03 > 4703 5.1:0.6 52102 = 5.7:2.4 58:0.6 = 48:07 = 50£0.7 7.60.4 8102 = 7.1%#20 = 6.0:L1 =
16:0/18:1 44+13 = 4.0:01 > 3.4%05 40£06 < 59:06 < 6.7+0.6 6.3+1.2 9.7+10 < 6.6£0.9 8300 = 85:07 = 02406 < 137+17 = 158424 = 17.0:19 < 26.6:13 <
17:018:3  0.1#0.1 = + = + + = + = 0100 + 0101 = 0.2:0.1 + = + = + 0.1:0.1 + < 0100 < 02400 =
17:0181 02:0.1 = 02:01 = 0.1#0.1 02:01 = 02:01 = 03:0.2 0.3:0.1 03t0.2 = 0.20.0 02:02 = 02:01 > 0100 0.20.1 02:01 = 03:01 = 02:01 =
18:4/18:4 + = + = + + o< + = 0101 + + o= 0.1+0.2 01:01 = 0.1:01 = + 0.1:0.1 02:0.2 = + < 0100 =
18:3/18:4 35:1.1 = 3.8:06 = 3.3:05 35:05 < 4.2:03 > 35:0.6 3.6£0.7 2609 = 5.1:0.3 54102 < 80:05 = 8.1%0.6 4.0:0.4 48:09 = 4606 = 43102 >
18:3/18:3 27.7414 = 205:16 > 27.6:0.6 = 27.7t0.9 > 253:09 = 257+0.9 = 25.8:13 > 20415 >  26.8:12 = 27.0+15 < 325:13 = 31035 > 20.3:24 = 10.7+18 = 18.3:22 > 144404 >
16:1/205  0.1:0.1 > + = + + o< + = + 0.1+0.1 02:01 = 0.2:0.2 02:03 = + = + 0.10.0 01:01 < 02¢01 = 02:01 =
18:3/18:2 11.841.0 > 10.0:08 < 11.0402 = 10.7¢0.6 < 13.1:05 = 120+11 = 12.0:0.7 9.2:0.6 >  10.6:19 = 100£05 = 97+12 = 097+0.9 = 11.1+2.0 92:1.9 = 87+18 > 37:02 >
18:2/18:3 02402 = 01:00 =  0.1+0.0 + = 02402 = 01201 0.1+0.0 0100 = 0.1+0.1 02:01 = + = 01:0.1 0.20.3 0100 < 05:02 > 01:00 =
20:5/16:0 0101 = 01201 = + + o= + o= + + 0101 = 0.1+0.0 0101 = + o= + 0.1:0.1 0100 = 01#01 = 0101 <
16:0/205 0.3%02 = 0.1:00 = 0.5:0.5 0101 = + < 02:00 + 0102 = 0.4£0.3 03:02 = 02:¢01 = 0100 0.10.0 0403 = 03:01 = 02:00 =
1821182 2.3+11 = 18:05 < 2.5:0.3 22606 = 27:06 > 16+0.1 15:0.5 19:13 = 15:0.6 2409 = 20:01 < 2.3:03 3.30.9 34104 > 18401 > 06:01 >
18:3/181 49404 > 3.6:03 > 2.3+0.1 20t06 < 54+12 = 5805 7.00.9 52104 = 2.7+0.5 1603 > 08:01 = 0.7:0.2 1.740.1 14108 = 13:04 = 1000 >
18:1/18:3 0300 = 01:01 = 0.1:0.1 + o= + o= + 0.1+0.1 0101 = 0.1+0.1 01:01 = 0.1:01 = + 0.30.2 01:01 = 01#01 = 01:00 =
20:4/160 0100 = 01200 = + + = + = + 0.1+0.1 . > 0.1+0.1 01:00 = 0.1:00 > + 0.1£0.1 0201 > + = 0101 =
16:0/20:4 0.1%0.0 = 01200 = + + < + = 01$00 + 0101 = 0.2:0.1 02£02 = + = + 0.10.0 0101 = 01201 < 0300 <
18:2/18:1 24408 = 20:02 = 2.640.7 21602 < 3.9:02 > 3304 3.7:0.2 37412 = 15:0.4 08:02 = 07:00 = 0601 1.6£0.1 18502 > 1.0:02 > 0701 >
18:1/182 02402 = 01202 = + + = 01:01 = + 0.1+0.0 02:01 = 0.30.1 02:00 > 01300 < 0.1+0.0 0.1+0.1 0303 = 01201 < 0300 =
20:3/160 0100 > + < + + < 0100 = 0100 + 0101 = 0.1+0.1 + o= + = + 0.1£0.1 0100 = + < 01200 =
18:3/180 0.1#0.0 = 01:00 < 0.1#0.1 0100 > + = 01200 0.1+0.1 0100 = 0.20.0 0101 = + = + 0.240.0 0100 > + -
18:0/18:3 << + = 01#00 + < 0100 = 0100 + 0100 < + 0102 = + = + 0.1:0.1 - < 01%00 -



18:1/18:1 1.8+0.2 > 15+0.0 < 2.0£0.1 = 1.9+0.3 < 3.3t05 = 3.8#09 = 3.4+0.4 < 5.8+0.1 < 2.2+1.0 > 0.9+0.2 = 1.1+05 = 0.6+0.0 < 2.2+03 = 2.7#1.0 = 2.1+04 < 3.9+0.7 <

18:0/18:2 0.2£0.1 = 0.1+0.1 = 0.2#0.1 = 0.2+0.1 = 0.3+0.1 = 0.3+0.1 > 0.1+0.1 = 0.1+0.0 = 0.2#0.1 = 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = 0.3+0.3 = 0.2£0.1 > 0.1+0.0 < 0.4+0.1 =
18:0/18:1 0.3+0.2 = 0.2+0.1 < 0.7+0.1 > 0.4+0.2 < 1.2+04 = 1.1+0.2 = 1.3+05 > 0.5+0.2 = 0.1+0.0 = 0.1+0.1 = + = 0.1+0.0 < 0.2+0.0 = 0.4+03 = 0.6+0.3 = 0.5+0.2 <
18:4/20:5 0.2£0.2 = 0.1+0.0 > + = 0.1+0.0 = + = 0.1+0.1 = 0.1+0.0 > + > 0.1+0.0 = 0.1+0.1 > + = 0.1+0.1 = + = + < 0.1+0.0 = 0.1+0.0 >
20:5/18:3 0.5+0.1 < 0.8£0.2 > 0.4£0.0 = 0.4+0.0 > 0.2+0.1 = 0.3+0.1 = 0.3+0.0 = 0.4+0.2 = 0.740.3 < 1.4+0.2 > 0.9+04 = 0.6+0.2 = 0.4+0.2 = 0.2£0.1 = 0.3+0.2 = 0.3+0.1 >
20:5/18:2 0.2£0.1 < 0.3+0.0 > 0.1+0.0 < 0.1+0.0 = 0.2+0.1 = 0.1+0.1 = 0.1+0.0 = 0.2+0.0 = 1.0+0.5 = 1.4+0.3 > 0.3+0.2 = 0.4+03 = 0.1+0.0 = 0.2£0.1 = 0.1+0.1 = 0.2£0.1 >
20:5/18:2 0.1+0.1 = + > + = + = + = 0.1+0.0 = + = + = - = + = + = + < + = + = + # - #
18:2/20:5 0.2£0.1 > + > - # - # - < 0.1+0.0 = + = 0.1+0.0 = 0.1+0.0 = + = + = + = 0.1+0.1 > - < 0.1+0.1 = 0.1+0.0 =
18:1/20:5 0.3+0.1 > + = 0.1+0.1 = + = 0.1+0.1 = 0.1+0.0 = 0.1+0.2 = 0.1+0.0 > 0.1+0.0 = + > + = + < 0.1+0.0 = + = 0.1+0.1 = 0.1+0.0 =
20:5/20:5 0.1+0.0 > + < + > + = + > - < 0.1+0.0 = 0.1+0.1 = 0.1+0.1 = 0.1+0.0 > + = + = 0.1+0.0 = + < 0.1+0.0 < 0.3+0.0 <
20:4/20:5 0.1+0.0 = + = 0.1+0.0 = + = + = 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = 0.3x0.3 = + > - = + = 0.3x0.4 = 0.1+0.0 = 0.3+0.2 = 0.2£0.0 =
Streblonema corymbiferum Streblonema sp.

PE 0 5 12 20 50 100 150 200 T # 0 5 12 20 50 100 150 200
16:1/16:1 0.3x0.1 = 0.5+0.1 = 0.3x0.4 = 0.3x0.2 = 0.2£0.1 > + = 0.1+0.0 < 0.2#0.1 = 1.0£06 = 0905 = 1.0£1.2 = 0.3+0.2 = 0.3+0.1 = 0.3+0.2 = 0.2+0.2 = 0.3+0.2
16:0/16:1 0405 = 0.1+0.0 = 0.1+0.1 = + < 0.1+0.0 = 0.1+0.1 = 0.1+0.0 < 0.1+0.0 = 1.4+06 > 0.2+0.2 = 0.1+0.1 = + = 0.1+0.1 = 0.1+0.0 < 0.2+0.1 > 0.1+0.0
14:0/20:5 1.8+0.4 > 1.0£03 = 0504 = 0.7x0.2 < 1.6+x0.4 = 2.0£06 = 1.4+05 = 2.0+14 = 1612 = 0.9+04 < 1.8+03 = 1.4+0.6 > 0.5+0.3 = 0.4+0.1 = 0.60.2 = 0.5+0.2
14:0/20:4 7.6x0.5 > 4805 > 3.0£05 = 3.620.4 = 4.1+09 = 3.6£0.2 = 3.6£0.1 > 3.4+0.1 > 1.0+0.7 = 1.5+0.2 > 0.9+0.3 < 1.6+0.5 > 0.6+0.1 < 0.8+0.1 = 0.8+0.2 > 0.4+0.1
18:1/16:1 55+15 = 3.8£1.2 > 1.7+0.8 = 1.5+0.6 > 0.5+0.3 = 0.2#0.1 = 0.1+0.0 < 0.3:0.2 > 26.3+t1.6 > 23.5+#1.9 > 16.2+04 > 12.1+23 > 3.1+0.3 = 3.7+0.6 > 1.0+0.2 = 0.7+0.1
16:0/18:1 0.4x0.1 = 0.5+0.4 = 0.3x0.0 = 0.3x0.2 = 0.2£0.0 = 0.2#0.1 = 0.3+0.1 = 0.3+0.2 = 1.5+0.8 = 1.2+0.1 = 1.0+0.6 = 0.8+0.1 > 0.3+0.2 = 0.5+0.2 = 0.7+0.5 = 0.4+0.2
18:0/16:0 0.5+0.0 > + = + = + = + = + = 0100 = 0.1x00 > 0.2#0.2 = 0.1x01 = + = + < 0.1#00 = 0.1#0.1 < 0.4+0.0 > 0.1+0.1
20:5/15:0  0.1£0.0 = + < 01+x00 = 01#0.0 = 01#0.0 = 0100 = + = + > 0.4+0.2 > 0.1+00 = 0.1+01 = 0100 = + = + = 0.5+0.6 = 0.1+0.0
20:4/15:0  0.1#0.0 > 0.1+0.0 = 0.2+0.1 = + = + < 01£0.0 = 0101 = + > 0.2+0.1 = 0.1x01 = + = + < 0.1+00 > 0.1#00 < 0.4+03 = 0.1+0.1
18:3/18:4  0.9+0.2 > 0.2#0.2 = + = + = + = + = 01x01 = + > + = 01£0.0 = + =  01x00 > - < + > - < +
18:4/18:3 0.7#0.5 = 0.3#0.2 = 0.2#0.1 = 03%0.2 > + < 01£0.0 = 0101 > + > 0.3+0.1 > 0.1+x00 = 0101 = + = 0.1#00 = + > - < 0.1+0.1
16:0/20:5 1.0#0.8 = 1.1#0.3 > 0.6#0.2 = 0.7+05 < 21+01 > 13+06 = 1.2+05 < 3507 < 35#09 < 6403 = 6.2+1.1 = 6.3+0.7 > 2.8#0.1 = 2.3+11 = 3.5+0.8 = 4.3+0.1
18:2/18:2 0.3+0.2 = 0.3+#0.1 = 0.2#0.1 = 01+01 = 01400 = + =  01+00 = 0.1x00 = 1.0£#1.3 = 0.2+0.1 = 0.2+#01 > + < 0.1x00 = 0.1#00 = 0.2#0.1 = 0.1x0.1
16:0/20:4  4.6+0.7 = 5.0+0.8 = 43+0.6 = 45+01 > 4.1+04 < 47+03 > 3.3+03 < 4.8+05 = 12.0+23 > 79402 = 7.1#09 = 59+1.0 = 55402 = 6.2¢#1.0 = 6.740.8 = 6.5+1.1
18:2/18:1  0.7#0.2 > 0.3#0.2 = 03#0.2 = 03+01 = 0301 = 0302 = 0.3%0.1 = 0402 > 05+0.1 = 0.3#0.2 = 02+01 = 0.2+01 > 0.1#0.0 < 0.2#0.1 = 0.3+0.1 = 0.4+0.3
18:1/18:1  1.1#04 = 1.1#04 = 09+#05 = 10403 < 1.8+04 = 1.8+0.7 = 1.9+02 = 1.7+08 = 0.740.2 < 1.3#02 = 11+05 = 0.9+02 > 0.5+0.0 < 1.1+01 > 0.9+0.0 = 1.0+0.4
20:5/18:4  4.9+25 = 4.1+04 > 27+06 = 22+09 > 0604 = 0.3+02 = 04£#0.2 = 0.3%0.2 > 1.5+04 > 09+04 = 0701 > 0301 > 0.1#00 = 0.1#00 < 0.3+0.0 = 0.1+0.1
20:5/18:3  1.4+0.8 = 0.8+0.3 = 05+0.2 = 04%02 = 0402 = 04+03 < 0.8+0.2 > 0.2+#0.2 > 0.6+0.3 = 05#05 = 0.3#03 = 0401 > 0.2#0.2 = 0.2#0.1 = 0.2#0.0 = 0.1x0.1
18:3/20:5 6.5#0.7 = 59+0.6 > 4.1+#0.1 = 41+05 > 0.8+#0.2 > 03x0.1 < 0.7+02 = 04%03 > 0.9+0.3 = 0.8#05 = 04%00 = 05+02 > 0.3+00 > 0.1#00 < 0.3+0.2 > 0.1+0.0
18:3/20:4  1.4+04 = 1.3+07 = 0.8#0.3 = 06+0.2 < 1.4+#04 = 12+08 = 1104 = 0.9%0.1 > 0.4+0.2 = 0.6#0.2 = 0502 = 0.7#0.2 > 0.2#0.1 = 0.5+04 = 0.3+0.0 = 0.3x0.2
18:2/205 0.3+0.3 = 0.1#0.1 = 0.1#0.0 = 0.1+01 = 0.1+01 > + < 01+x00 = 0.1x00 > 0.6+0.8 = 0.1+x0.0 > 0.1+00 = 0100 = 0.1#0.1 = 0.1x0.1 < 0.3x02 > 0.1x0.0
18:2/20:4  1.9¥15 = 0.9+#0.7 = 05#03 = 06+05 = 06+04 = 0602 = 0.6+05 = 0.3x0.1 > 0.6+0.3 = 0.3+03 = 03%0.1 = 0.2+0.1 = 0.3+0.1 = 0.3x0.1 = 0.4+0.1 = 0.2+0.1
18:1/20:5 1.1¥1.0 = 1.0#04 = 04+#04 = 05+0.1 < 09+0.2 = 0.8+03 = 0.8+06 = 04203 = 0.7+0.3 > 0.3#03 = 0.2+0.1 = 0.3%0.1 = 0.2#0.1 = 0.3+0.1 = 0505 = 0.2+0.1
18:1/20:5 0.7#0.8 = 0.4+#0.2 = 0502 = 06+0.2 = 05+04 = 05+0.2 = 04%02 = 05%02 = 05+0.5 = 0.4+04 = 0302 = 0.3%01 > 0.1#00 = 0.2#0.1 = 0.2#0.1 = 0.2+0.1
18:1/20:4  0.9+04 < 21#06 = 19407 = 21+1.2 > 07+#01 < 12+02 = 1.0+04 > 0.3%02 > 1.0¢08 = 0.3x0.2 = 05+01 > 02+01 < 0.3+0.1 = 0502 = 0.9+04 > 0.2+0.1
18:0/20:;5 0.5#0.2 = 0.4#0.2 = 0702 = 09+03 = 0.6#0.2 < 14#02 = 1104 = 17+08 < 2.3+21 = 12409 = 1.0+05 = 13x02 = 0.9+05 = 1.2#04 = 1.3+09 = 1.6£0.5
18:0/20:4  2.7+0.7 = 3.1+0.1 < 35+04 = 4.0+05 = 3.8#0.2 > 2701 < 3.4#04 = 2310 = 15+1.0 < 26202 > 22403 = 24+05 < 4.0+0.1 < 5.1+08 = 4602 = 4.4+0.5
20:5/20:5  2.9#1.0 = 3.0+05 > 22+03 = 23%04 < 29+04 < 47+03 > 31#1.0 < 6.6£21 < 2.3+1.6 < 8609 = 92+12 = 8802 > 5.9+04 = 5.6£0.9 < 7.2406 = 7.7x0.7
20:4/20:5 10.5#1.0 < 12415 = 13.8+0.8 = 14.2¢1.1 < 18905 < 23.1*1.1 = 222420 < 253+0.8 < 127403 < 17.0#1.6 < 21.3+0.3 = 229+24 < 26.0+08 = 24.0£26 = 27.0+#27 = 28.6x0.3
20:5/20:3  2.0+0.4 > 0.6x0.2 > 0.3+0.2 = 0.1*¥00 = 0.3%02 = 0.3%02 = 0.2+#0.1 = 0.2#0.0 > 0.9+0.5 > 0.4#0.1 = 03%01 = 0.3%0.1 = 0.2#0.1 = 0.3+0.1 = 0.2¢03 = 0.1+0.0

20:3/20:5 1.2406 > 0.3#0.1 = 02400 = 0.2#0.1 = 0.2+01 = 0.2#0.1 = 0202 = 0.3#03 > 19404 > 0.6+0.8 = 0.2+#01 = 0.2#0.2 = 0.1+0.0 < 0.2+0.1 = 0.6x09 = 0.2+0.0



20:4/20:4 20.0+1.4 < 279423 39.5+4.5 38.4+1.8 = 404+1.6 > 351x15 = 37.7#3.1 > 30.2%¥15 < 13.4+1.2 = 15.3+2.3 < 20.5+0.2 < 26.0+0.8 41.9+1.7 > 37.8+£2.2 > 34.3£1.9 = 35.0£1.1
20:3/20:4 1.3+0.0 > 0.7+0.1 0.6+0.3 0.4+0.2 = 0.2+0.1 < 0.3+0.1 = 0.2+0.1 = 0.3x0.0 > 0.3x0.2 = 0.1+0.0 = 0.3x0.2 = 0.3+0.2 0.1+0.0 < 0.4+0.2 = 0.2+0.2 = 0.2+0.3
20:4/20:2 0.8+0.1 = 0.7+0.2 0.2+0.1 0.4+0.3 = 0.2+0.1 = 0.1+0.1 = 0.1+0.0 = 0.2+0.2 > 0.8+0.8 = 0.1+0.0 = 0.1+0.0 > + 0.1+0.0 = 0.1+0.0 = 0.2+0.2 = 0.1+0.1
20:1/20:5 0.6x0.1 = 0.7+0.3 0.7+0.6 0.5+0.3 = 0.5+0.1 = 0.6x0.2 = 1.0£0.3 = 0.6x0.2 = 0.2£0.2 = 0.2+0.1 = 0.2#0.1 = 0.2+0.0 0.1+0.1 = 0.1+0.0 = 0.2+0.1 = +
2200]&;/220045 4.1+0.8 = 4.4+0.2 4.1+0.6 4.6x0.4 = 4.1+05 = 4.0£04 = 3.8+09 = 49+1.4 = 0.8+0.6 < 1.9+05 = 1.9+0.0 = 1.7+0.5 1.0£0.4 < 2.2+0.9 > 1.1+0.3 = 1.4+0.3
20:0/20:4 48+1.0 = 5.9+0.2 6.3+1.1 6.6£0.9 > 4.3+0.7 = 4.6x0.3 = 5.2+1.1 > 3.7+0.6 = 2.7+0.3 > 1.8+0.5 = 1.7+05 = 1.6+0.3 2.0+0.6 < 3.1+0.2 = 3.1+0.6 > 2.1+0.5
20:4/22:1 0.1+0.2 = 0.1+0.1 0.1+0.1 0.1+0.1 > + = 0.1+0.1 = 0.1+0.1 = 0.1+0.1 = 0.3+0.1 > + = 0.2£0.2 = 0.1+0.1 + = 0.3x0.4 = 0.3+0.1 = 0.2+0.1
22:0/20:5 1.0£0.6 = 1.0£0.2 0.9+0.3 0.6x0.2 = 0.6x0.2 = 1.0£0.3 = 1.1+05 = 1.4+0.3 = 0.3+0.1 = 0.2+0.2 = 0.3+0.1 = 0.4+0.1 0.2+0.1 = 0.2+0.2 = 0.2+0.1 = 0.3+0.2
22:0/20:4 2.2+0.6 < 2.8+0.3 2.7+0.6 1.8+1.1 = 1.8+0.3 = 1.8+#04 = 2.4+05 = 1.7+0.7 = 0.9+0.3 > 0.2+0.1 = 0.3+0.2 < 0.5+0.1 0.6+0.1 = 0.8+0.6 = 0.4+0.3 < 0.8+0.0
24:0/20:5 0.2+0.3 = 0.1+0.1 0.1+0.0 + = + = 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = 0.8£0.8 = 0.2+0.1 = 0.2£0.2 = 0.3+0.1 0.3+0.1 = 0.1+0.1 = 0.3+0.3 = 0.5+0.4
24:0/20:4 0.1+0.0 = 0.2+0.2 + 0.1+0.1 = 0.1+0.1 = 0.1+0.1 = 0.1+0.0 = 0.1+0.0 = 0.3+0.2 = 0.8£0.6 = 05+0.2 = 0.4+0.3 0.1+0.1 = 0.6+0.6 = 0.3+0.2 = 0.4+0.4
Streblonema corymbiferum Streblonema sp.

Fe 0 5 12 20 50 100 150 200 T 0 5 12 20 50 100 150 200 T
14:0/14:1 + = + > - < + > + < + = + > - > + = + = + > + < + > - < + > - >
14:0/14:0 0.2#0.2 = 0.1x0.0 = 0.1+0.1 = 0.1+0.1 = 0.1+0.0 = 0.1+0.0 = 0.1+0.0 = 0.1+0.1 = + = 0.1+0.1 = 0.1+0.0 = 0.1+0.1 > + = + = + = + =
14:0/16:1 0.1+0.0 = + = + = 0.1+0.0 = + < 0.1+0.0 > + = + = + = 0.1+0.0 > + = + = + = + = + = + =
14:0/16:1 0.1+0.1 = + = + = + = + = + = + = + = + = + > + = + = + = + = + = + >
14:0/16:0 0.1x0.0 = 0.1+0.0 > + = + = + = + = + = + > 0.1+0.0 = 0.2#0.1 > 0.1+0.1 = 0.1+0.1 > + = + = + = + >
18:4/14:1 - # - < + = + = + = + > - < + < + = + > - < + > + > - # - # - >
14:0/18:4  0.1x0.1 = + = + < 01+0.0 = 0.1#01 = + < 01+0.1 > + = + < 01+00 = 01#00 = 0.1#00 = 0101 = + = 01£00 = + =
14:0/18:3  3.1x0.3 < 3.8%0.3 > 2.0+0.1 < 2.8+#04 < 3.6£#03 = 3.4+#02 = 3303 > 28+02 > 1.1+03 = 13404 < 24#05 = 22+02 > 15403 = 15+#02 = 1504 = 14#01 =
14:0/18:3 0.5%0.1 > 0.3x0.1 = 04%02 = 0.2#0.1 = 0.2#0.1 = 0.3%02 = 06+03 = 04+02 = 0.2#0.1 = 02+01 = 03#03 = 0.1+#01 = 01+01 = 0101 = 0201 = 01200 >
14:0/18:2 3.7¢0.1 < 55%0.6 > 3.4+01 < 4.2+03 = 45+09 = 3.9+01 = 36+0.7 = 34x03 > 22+03 < 32403 = 38+#06 < 46x05 = 4.1+03 > 36+04 = 36+09 > 2300 =
14:0/18:2 1.2#0.1 > 04202 < 1304 = 09402 = 09404 > 0402 < 1.0+03 > 0.3+0.1 > 0.2#0.1 = 0.1+0.0 < 04#02 = 0.2#02 = 01%01 = 02400 > 0.1+#00 = 0101 =
14:0/18:1  6.0#05 < 9.7¢1.2 = 9.0¢14 = 9.6#06 > 58+0.2 > 4.6+02 = 54%11 > 3.1+03 > 20+0.2 = 23402 < 3.1+#04 = 2706 > 0.9+#02 = 1.0+02 = 08+0.1 > 05+01 >
16:0/16:0 + = + = + = + = + = + = + = + = 0.1+0.1 = + > + = + = + = + = + > + =
17:3/16:1  0.1x0.0 > + = + = 01+0.1 = 0.1+0.0 = + = 0.1+0.0 = + > + = + = 01+0.0 > + = + = + = + = + =
15:0/18:2  0.1x0.1 = + = + = + = + = + < + = + = 0.1+0.0 > + = + = + = 01x01 = + =  01#01 = + >
15:0/18:1  0.1#0.0 = 0.2#01 = 0.2#0.1 = 0.3#0.1 > 0.1#0.1 = 0.2#0.1 > 0.1+0.0 < 0.1+0.0 = 0.1+0.1 = 0.1+0.0 > + < 0.1+00 > + = + = + = + >
14:0/20:5 11.0¢0.7 > 7.5%05 > 22+03 < 6.6#05 < 9.9+0.8 < 145423 = 148+03 < 19.3+#16 < 8.8+0.4 < 11.7#16 = 10.3+14 = 10.2+¥14 = 9.8+04 = 9.6+1.0 = 104+05 = 10.1#04 <
14:0/20:4  4.4+0.2 > 1.7+01 > 0.4+03 = 0.6#0.1 < 1.0+0.2 = 1.0¢00 = 09+06 = 1.0+0.3 > 1.9+1.0 = 0.9+#0.1 = 1.1+02 = 09+0.3 > 05#02 = 06+0.2 = 04+01 > 0.2+#01 >
14:0/20:4  7.3x05 < 8.8+1.0 = 8.0+03 = 7.8#+0.8 < 12.8+0.8 > 11.3+1.0 = 104+1.0 > 8.7+12 < 3.9+0.2 < 45+03 < 49+#03 = 55+0.7 = 57404 = 5905 = 54+05 > 4.7+03 <
14:0/20:3 0.3x0.2 = 04204 = 0.2#0.0 < 05#03 > 0.2#0.1 = 0.3%02 = 05+0.1 = 0.3+0.2 = 0.2#0.2 = 0.2¢02 = 0.3#0.1 > 0.2#01 = 04%01 = 02401 = 0.2#01 = 0301 =
16:0/18:3  2.3x1.0 < 35x0.2 > 2305 = 23+03 = 2.8+04 > 23+03 = 24+02 = 24+03 = 1.8+0.3 < 35+#05 = 3.3+0.8 = 3.2+0.2 > 25+02 = 26401 = 25+02 = 23+#03 <
18:0/16:3  0.5¢0.2 = 0.3%x0.2 = 0.3%0.2 = 0.3#0.1 = 0.4+#02 > 0.1+01 < 04+0.2 > 0.2+0.1 > 0.1#0.1 = 0.2#01 = 0.3#0.2 = 0.1+#01 = 01401 = 0.1+0.1 = 04+03 = 0.1+01 =
16:0/18:2  4.1x05 = 3.9+04 = 4.0£05 = 3.9+0.2 > 27+03 > 24+02 = 27+03 > 19+02 > 47408 < 5605 = 58+03 = 57+03 = 5805 = 52404 = 54+0.7 > 4.3%05 =
16:0/18:1 4.1+04 = 3.9+0.6 < 6.9+0.6 > 6.2¢#0.2 > 25+0.1 = 24402 = 26+04 > 1.7+0.0 > 4.6+04 = 47+02 = 45+02 = 45+#1.1 > 1703 = 1.9+0.7 > 1.2+02 > 0.9+00 >
18:4/17:2  0.1+#0.1 = 0.1+0.1 = 0.1+x0.0 = + < 01+00 = 01+0.0 = 0.2#0.1 = 0.2#0.1 = 0.1#0.1 = 0.1+0.0 = 0.1#0.1 = 0.1+00 = 0.2¢01 > 0.1+00 = 0.1+01 = 0.1+00 =
17:2/18:3 1501 > 0.8+0.1 > 0.4%02 = 0.2#0.1 > 0.1#+00 = 0.1+00 = 0.1+x0.0 = + > 0.3+0.2 = 0.1+x0.0 = + = + = + = + = + = + >
15:0/20:5 0.2#0.2 = 0.3%0.1 = 0.1+01 = 0.1+#0.1 = 0.2#0.1 = 0.3#00 = 04+03 = 0.6+03 = 0.3+0.1 = 0.2#01 = 0.2#40.2 = 0.2#0.1 = 04401 > 0.2#0.1 = 0.3+#0.1 = 0.2#01 =
17:1/18:3 0.1+#0.1 = 0.1%0.0 = 0.1+0.0 = 0.1#+00 = 0.1#00 = + < 01+0.0 = 0.1+0.0 = 0.1#0.1 = 0.1+01 = 0.1+#0.1 = 0.2#01 = 0.2#01 = 01400 = 0.1+01 = 0.1+00 =
15:0/20:4  0.1+x0.0 = 0.2¢0.1 > 0.1#0.0 = 0.1¥0.0 < 0.2#0.1 = 02+0.1 = 0.1#00 < 0.2+00 = 0.1#0.1 = 0.1+0.0 = 0.1#00 = 0.1+#01 = 0.1+01 = 0.1+00 > 0.1+00 = 0.1%0.0 =
15:0/20:4  0.1+#0.1 = 0.1+0.1 = 0.1+x0.0 = + = 01+01 = 0.1+0.0 = 0.1#00 = 0.1#0.1 = 0.1#0.0 = 0.1+0.2 = 0.1#0.1 = 0.1+#01 = 0.1+01 = 0.1+01 = 0.1+00 = 0.100 =
17:1/18:2 + = + = + = + = + = + = + > + = + = + > + = + < 0.1+0.0 > + = + = + >



17:1/18:2
17:0/18:2
16:0/19:1
18:3/18:3
20:5/16:1
16:1/20:5
18:3/18:2
20:4/16:1
16:0/20:5
16:0/20:4
16:0/20:4
18:2/18:1
18:1/18:2
16:0/20:3
16:0/20:3
18:1/18:1
18:1/18:1
18:0/18:2
18:0/18:1
20:5/18:4
20:5/18:4
20:5/18:3
20:5/18:2
20:4/18:3
20:3/18:3
20:4/18:2
20:5/18:1
18:2/20:3
20:4/18:1
18:0/20:5
18:0/20:4
18:1/20:1
18:2/20:0
16:0/22:1
18:1/20:0
20:4/19:2
20:4/19:1
20:5/20:5
20:5/20:4
20:4/20:5
20:5/20:3
20:3/20:5
20:4/20:4
20:4/20:3
20:4/20:2
20:4/20:2

0.1+0.0

0.2+0.1
0.1+0.0
0.1+0.2
0.1+0.1
0.1+0.0
3.6+0.6
1.5+0.5
2.8+0.4
0.80.1
0.5+0.3
0.80.2
0.2+0.2
0.40.2
0.40.2
0.4x0.3
0.1x0.1

1.5+0.2
2.610.4
0.5£0.1
0.1+0.0
1.3+0.5
3.4+0.8
0.310.1
4.8+0.2
0.2£0.1
0.1+0.0

0.1+0.0

0.1+0.1
0.1+0.0
2.3+0.3
1.0£0.3
6.3£0.9
1.710.4
0.8+0.4
5.8+0.9
1.8+0.3
0.6+0.4
0.3£0.2

0.1+0.0

0.2+0.1

0.1+0.0

3.8+0.0
0.4+0.3
3.0£0.4
0.8+0.3
0.7x0.4
0.60.2
0.3x0.3
0.6x0.1
0.40.1
0.1x0.1
0.1+0.0

1.4+0.2
2.1+0.3
1.2+0.5
0.1+0.1
4.1£1.0
2.1+0.8
0.2+0.0
7.8£1.6
0.3+0.2
0.1+0.0

0.1+0.1
0.1+0.0
2.0£0.2
0.3£0.2
5.9+1.4
0.5£0.2
0.5£0.2
4.8+0.3
2.1£0.1
0.3£0.1
0.3£0.1

0.1+0.0
0.1+0.1

0.1+0.0
0.1+0.1

0.2:0.0
0.1:0.1
2.1:0.4
0.1:0.1
4.4:0.5
1.7:0.1
0.4:0.1
0.9:0.3
0.3£0.2
15:0.1
0.6£0.2
0.3:0.0
0.10.1
+
0.10.1
1.3:0.1
2.4+0.6
1201
0.1:0.0
5.5:0.7
2.4+0.5
0.4+0.1
12.4£1.4
0.3:0.2
0.1:0.1
+

+

+

+
0.1:0.0
0.1:0.0
1.4:0.3

5.7+0.5
0.1+0.0
0.4+0.3
7.6x0.7
2.4+0.4
0.1+0.0
0.5+0.5

0.1+0.1
0.2+0.1

0.1+0.1

0.1+0.0
0.1+0.1
2.3x0.5
0.3+0.1
3.8+0.5
1.3+0.3
0.7+0.2
0.9+0.2
0.5+0.1
0.7x0.2
0.40.1
0.2+0.0
0.4x0.3

1.3:0.4
2.7+0.0
1.0:0.1
+
5.4+0.7
1.60.4
0.3:0.1
11.241.1
0.3:0.2
0.2+0.0
+

+

+

+
0.2¢0.1
0.1:0.1
1.4:0.3
0.1:0.1
4.8:0.4
0.2:0.2
0.4:0.3
6.8+1.0
1.6:0.3
0.2:0.2
0.3:0.1

0.1+0.0

0.1+0.1

0.1+0.0
0.1+0.0
3.2+0.3
0.2+0.2
3.6x0.4
0.7x0.1
0.40.1
0.5+0.3
0.1+0.0
0.40.1
0.2+0.0
0.2+0.1
0.1+0.0

1.4+0.1
3.4£0.2
0.6+0.1

3.0£0.2
2.4+0.2
0.1+0.1
4.9+0.3
0.2+0.1
0.2+0.1

0.1+0.0

2.3+0.5
0.1+0.1
9.9+0.4
0.3+£0.1
0.5£0.1
9.5+0.5
1.6+0.2
0.2+0.0
0.1+0.0

0.1+0.0

0.1+0.1

0.1+0.0
0.1+0.0
4.9+0.7
0.1+0.0
4.2+0.4
0.2+0.2
0.2+0.1
0.620.1
0.1+0.1
0.4£0.0
0.3x0.1
0.1+0.0
0.1x0.1

1.6+0.1
2.8+0.1
1.2+0.2
0.1+0.0
2.610.8
1.5+0.3
0.1+0.1
3.4£0.3
0.2+0.0
0.2£0.1

0.1+0.0

4.210.1
+
12.2¢1.1
0.540.2
0.540.1
6.9+1.1
1.4:0.2
0.1£0.0
0.240.1

4.4+£1.7
0.4+0.2
4.1+0.3
0.40.1
0.3%0.1
0.5+0.3
0.3%0.2
0.2+0.1
0.1x0.1
0.1+0.0
0.1x0.1

1.3+0.4
2.5+0.1
1.1+0.1

2.0+0.6
2.2+0.1
0.1+0.1
4.3+1.0
0.4+0.1
0.3+0.1

0.1£0.0
+
3.3:1.2
0.240.1
10.0+1.4
0.6£0.1
0.5:0.1
7.7+2.2
1.6:0.2
0.1£0.0
0.1£0.0

<

<

0.1+0.0

7.4+0.6
0.3%0.1
3.620.5
0.2+0.0
0.3%0.1
0.5+0.2
0.1+0.1
0.2+0.1
0.2+0.0
0.2+0.0
0.2+0.1

1.8+0.1
2.3+0.3
0.9+0.2

0.9+0.2
2.2+0.1
0.1+0.1
2.3+0.7
0.5+0.0
0.2+0.1

+
+
7.9£1.5
0.3%0.1
12.8+0.4
0.2+0.1
0.7+0.5
4.8+1.0
1.0£0.3
0.1+0.1
0.1+0.1

0.1£0.2
0.240.0
0.1£0.0
0.240.1
0.1£0.1
0.1£0.0
0.1£0.0
0.240.1
14.5+2.2
2.2:0.6
7.5¢1.3
0.6£0.2
0.5£0.2
0.3:0.3
0.1£0.1
0.5£0.1
0.4£0.2
0.3£0.0
0.240.1
+
0.240.2
2.7+1.0
3.6£0.3
0.940.6
0.5:0.3
1.7:0.5
2.0:0.3
0.5:0.3
2.7:0.9
0.940.2
0.3:0.4
0.1£0.0

0.1+0.0
0.2+0.0
0.1+0.1
5.1+1.3
1.2+0.6
8.7+1.1
0.9+0.6
0.7£0.5
4.0+£0.3
0.4£0.1
0.1£0.1
0.1£0.1

0.1+0.0
0.1+0.0

0.1£0.0
0.20.1
+
0.20.1
0.1£0.0
15.8+0.6
1.6£0.1
7.3:0.9
0.20.1
0.5:0.3
0.1:0.0
0.2:0.3
0.3:0.1
0.1:0.0
0.20.1
0.1+0.0
0.10.1
+
2.540.3
4.0£0.4
0.50.2
0.30.1
2.00.3
1.540.3
0.2£0.2
1.6£0.1
0.7£0.0
0.10.1

0.2+0.1
0.2+0.2
6.1+0.4
0.3£0.3
8.0+0.9
0.3+0.3
0.3+0.3
3.0+0.2
0.5£0.0
0.1£0.0
0.1£0.2

0.2+0.1

0.1£0.0
0.10.1
+
0.4+0.1
0.10.1
11.840.9
1.1£0.3
6.3:1.0
0.50.2
0.4:0.3
0.6+0.3
0.40.2
0.3:0.1
0.1:0.0
0.1:0.1
0.1:0.0
0.1:0.0
0.1:0.0
2.4%0.3
3.540.2
1.40.5
0.1£0.0
2540.7
1.940.2
0.240.1
2.1£0.1
0.6£0.1
0.240.1
+

+

+

+

0.1+0.0

5.5+0.4
0.3+0.3
9.0+0.9
0.3+0.0
0.2+0.2
3.9+0.3
0.9+0.2
0.1£0.0

0.1+0.0
0.1+0.0

0.1£0.0
0.10.1
+
0.20.1
0.1£0.0
12.5¢1.2
0.40.0
6.40.3
0.4+0.1
0.4+0.1
1.0£0.3
0.2£0.2
0.20.1
0.20.1
0.1+0.0
0.1+0.0
0.1+0.0
+
2.4%0.2
4.2:0.5
0.5:0.3
0.1£0.1
2,509
2.4%0.3
0.240.1
1.940.2
0.5£0.2
0.240.1

0.1+0.0

5.9+0.9
0.3+0.1
8.3+1.8
0.3+0.1
0.4£0.3
4.2+1.0
0.8+0.0
0.1£0.1

0.1+0.1

0.1£0.0
0.1£0.1
+
0.240.1
0.1£0.1
11.1:0.7
0.4+0.2
7.9+0.5
0.240.1
0.3:0.1
0.70.3
0.20.0
0.20.2
0.1£0.1
0.30.2
+
0.1£0.0
0.1£0.0
22402
4.5:0.5
0.620.1
0.1£0.0
3.7+0.5
1.2£0.1

0.9+0.0
0.3+0.2
0.2+0.1

0.1%0.0
+
5.7+0.5
0.120.2
13.61.0
0.2:0.1
0.6£0.2
7.6£0.2
11201
0.120.1
0.1%0.0

0.1+0.0
0.1+0.0

0.240.1
0.1£0.0
+
0.20.0
0.1£0.0
12.4:0.9
0.5:0.1
7.3t0.5
0.240.1
0.30.2
0.6:0.2
0.1£0.1
0.240.1
0.240.1
0.240.1
+

+

+
1.9:0.2
4.7:0.5
0.7£0.1
0.20.0
3.40.8
1.5£0.5
0.20.1
1.240.2
1.0£0.1
0.20.1

0.1%0.0
+
6.4+1.1
0.2:0.1
13.20.6
0.3:0.1
0.7+0.1
6.8+1.4
0.8+0.4
0.120.1

+

0.1+0.0

0.1£0.0
0.1£0.1
+
0.1£0.1
0.10.0
13.0:0.7
0.3:0.3
7.4£0.1
0.2:0.1
0.40.3
0.60.2
0.2:0.1
0.2:0.1
0.10.1
0.1£0.0
+

+
0.1£0.0
2.0£0.3
4.9:0.3
0.5:0.1
0.10.1
3.1#0.5
1.0£0.2
0.1£0.0
0.80.2
0.80.2
0.20.1

0.1%0.0
+
7.310.9
0.310.2
14.8+1.2
0.240.1
0.410.3
5.9+0.4
0.6£0.0
0.1%0.0

+

0.1£0.0
0.1£0.0
+
0.1£0.1
0.1£0.1
16.2+1.0
0.4+0.1
7.3:0.4
0.3:0.2
0.240.1
0.4+0.1
0.2:0.3
+
0.1£0.0
0.1£0.1

0.1+0.1

2.3:0.5
4.8+0.3
0.3£0.0
0.120.1
2.0£0.4
1.8:0.3
0.240.0
0.9:0.1
1.0:0.0
0.3:0.1
+

+

+

+
0.1%0.0
0.1%0.0
8.4+0.5
0.2:0.3
15.7+1.7
0.240.1
0.50.2
6.040.4
0.740.1
0.1%0.0

+



20:5/20:1 0.1+0.0 = 0.1+0.0 0.1+0.1 + = + = + 0.1+0.0 + + + = + + = + = + + +
20:4/20:1 0.1+0.1 = 0.1+0.0 0.1+0.0 + = 0.1+0.0 = 0.1+0.0 0.1+0.0 + + + = + + < + > + + -
20:1/20:4 0.1+0.0 = + 0.1+0.0 + = 0.1+0.0 = + + + 0.1+0.0 + < + + = + = + + -
20:4/20:1 0.1+0.0 = 0.1+0.0 0.1+0.0 0.1+0.0 = 0.1+0.0 = 0.1+0.0 0.1+0.0 + 0.1+0.1 + = 0.1+0.0 0.1+0.0 > + < 0.1+0.0 0.1+0.1 +
20:0/20:4 0.1+0.1 = + 0.1+0.0 + = 0.1+0.0 = 0.1+0.1 + + 0.1+0.1 0.1+0.1 = + + = + = + + +
20:5/22:6 0.1+0.1 = 0.1+0.0 + + = + = + + 0.1+0.0 0.1+0.1 + = + + < 0.1+0.1 = 0.1+0.0 + 0.1+0.1
20:4/22:4 0.1+0.0 = 0.1+0.0 + + = + = + + + 0.1+0.0 + = + + = + = + + +
Streblonema corymbiferum Streblonema sp.
P 0 5 12 20 50 100 150 200 0 5 12 20 50 100 150 200
1f60(;}5611 7.3£23 = 8.8£2.2 6.2£2.9 8.1+1.2 = 6.3£3.7 = 5.0+2.6 4.2+1.2 5.7+£3.0 3.8+0.9 42+29 = 4.0+0.8 3.2+11 = 2.3+11 = 1.6£0.6 < 4.0£0.2 3.6x1.2
16:0/18:4 1.7¢09 = 1.3+0.3 0.7+0.5 1.1+0.6 = 1.1+0.1 = 1.0+1.1 1.2+1.1 1.2+0.8 1.3+0.9 0.4+0.1 = 0.5+0.1 0.2#0.1 < 0.5+0.1 = 0.2£0.0 = 0.5+0.2 1.3+0.0
16:0/18:3 8.1£22 = 5.245.0 4.4+0.1 52+1.4 = 3.7#15 < 5.4+0.6 5.6+0.5 4.1+2.1 4.8+2.7 48+2.3 = 3.6+2.5 3.0£05 < 4.1+0.0 = 4.0£2.0 4.7+0.9 4.3+2.3
16:0/18:2 12.9+4.9 = 10.5%¥2.9 9.1+1.8 7.3+29 < 10.6+1.5 = 10.4+1.1 9.6+0.8 8.3t1.4 18.1+1.5 18.9+3.1 = 15.2+2.4 16.8#0.5 = 16.2+1.6 = 18.0+1.8 14.9+1.2 12.2+2.7
16:0/18:1 53.846.8 = 59.2+1.6 58.7+2.6 57531 < 615+1.0 < 67.1+4.6 68.3+0.7 69.9+3.6 63.0£0.8 68.1+3.4 < 74.3+3.6 74.4+1.0 = 73.0#1.6 = 73.6+x1.4 73.6+£0.5 77.3t4.1
16:0/18:0 79+27 = 7.4+1.7 10.3+1.8 57+1.2 > 3.0£0.8 < 4.7+0.8 3.3£2.7 2.8+1.6 1.3+0.9 0.7+04 = 0.5+0.2 0.4+0.2 = 0.3+0.1 = 0.3+0.0 0.2+0.1 0.4+0.4
16:0/20:5 3.2+1.4 > 1.1+0.3 0.5+0.1 0.7#0.1 = 1.2+0.1 = 0.8+0.5 0.8+0.6 3.6+4.4 5.5+2.3 1.6+0.4 > 0.9+0.3 0.9+0.3 = 1.8+18 = 1.1+0.7 0.7+0.2 0.6+0.3
18:3/18:0 1.3+0.5 > 0.4+0.2 0.9+0.7 0.3+0.1 = 0.6£05 = 0.2+0.0 0.8£0.4 1.4+1.3 2.3+0.0 0.7+0.4 > 0.2+0.0 0.2£0.1 < 0.4+0.1 = 0.5+0.3 0.5+0.2 0.7+0.1
18:0/18:1 3.8+1.4 = 6.2£3.0 10.8+2.1 14.3+2.2 = 127429 > 5.4+1.4 6.1+1.1 3.5+1.9 1.1+0.1 0.6+05 = 0.8+0.3 1.0+04 = 1.6x1.0 = 1.3+0.4 1.1+0.8 0.7+0.5
Streblonema corymbiferum Streblonema sp.
PHEG
0 5 12 20 50 100 150 200 0 5 12 20 50 100 150 200
20:5/20:5 0.7#0.2 =  0.7+0.5 0.2+0.1 0.3#0.2 = 0.3x0.1 = 0.2#0.2 0.2+0.2 0.7+0.5 0.6+0.3 1.7+0.7 = 1.2+0.2 1.3+0.3 > 06x04 = 0.9+04 1.4+0.2 0.3+0.1
20:5/20:4 13.0+0.5 = 11.6+1.4 12.8+0.8 10.4+1.6 < 14.3+1.7 < 19.6+0.5 17.3+5.0 25.6+3.5 12.2+¢2.7 26.3+2.6 = 26.7+3.7 27519 > 19.7+7.0 = 17527 20.4+2.4 19.1+1.9
20:4/20:4 86.6+0.8 = 87.7+0.9 87.0+0.7 89.3+1.8 > 85.4%1.8 > 80.2+0.7 82.545.1 73.7+3.8 87.2+2.6 721+2.8 = 72.1+3.9 713422 < 79.7+75 = 81.6x2.9 78.2+2.3 80.5+1.7
Streblonema corymbiferum Streblonema sp.
DGTS
0 5 12 20 50 100 150 200 0 5 12 20 50 100 150 200
14:0/14.0  0.1+0.1 = + + + < 0.1+0.0 > + + + + 0.1#0.0 = + 0.1#0.1 = + = 0100 + 0.1+0.1
14:0/16:1  0.1¥0.0 = 0.1+0.1 0.1+0.0 0.2#0.1 = 0.3%0.1 = 0.2+#0.0 0.4+0.3 0.60.1 + + < 01+0.1 02+0.0 = 0.3+0.2 = 0.2#0.2 0.3+0.2 0.4+0.2
15:0/15:0 0.4+0.1 > 0.2+0.1 0.1+0.0 0.2#0.1 < 4.2406 = 3.2#0.9 3.5+1.7 4.0+£1.0 0.1+0.0 0.1+0.0 < 0.3x0.1 0.3+0.2 = 0.6+04 = 0.6+0.3 1.4+0.7 0.6+0.2
14:0/16:0 0.2+0.1 >  0.1+0.0 0.1+0.1 0.1#0.1 < 0.2¢0.1 = 0.1:0.1 0.2+0.1 0.2+0.1 0.1+0.1 0.2#0.1 = 0.2+0.0 0.2#0.1 = 04+03 = 0.3+0.3 0.3+0.1 0.2+0.1
15:0/16:0  0.1¥0.1 =  0.2+0.0 0.1+0.1 0.2#0.2 < 1.3+0.2 < 1.8+04 2.2+0.8 1.6+0.9 + 0.1#0.1 = 0.3%0.0 0.3+0.3 = 0.2+#0.1 = 0.3#0.1 0.4+0.3 0.3+0.2
14:0/18:3  0.1+0.0 = 0.1+0.0 + + = + = + + + + + < 0.1+0.0 0.1+x0.1 = + = + + +
16:1/16:1  0.5+0.1 >  0.3x0.1 0.2+0.1 0.3+0.2 = 0.30.2 = 0.2#0.1 0.2+0.1 0.2+0.1 0.1+0.0 0.1+0.1 < 0.3x0.0 0.3+0.1 = 0.3+0.1 = 0.2#0.2 0.3+0.1 0.4+0.0
14:0/18:1  0.7+0.8 =  0.4%0.2 0.5+0.3 0.5#0.5 = 0.840.3 = 1.1+05 0.7+0.3 1.0+0.6 1.9+0.7 2.6+0.3 = 2.9+0.6 27+03 = 26+19 = 21#13 2.1+0.6 2.6+0.5
16:1/16:0 0.9+0.5 = 0.4+0.4 0.3+0.2 0.2#0.3 = 0.6£0.3 = 0.4+0.1 0.8+0.4 0.7+0.4 0.7+0.5 0.3:t0.1 < 0.5%0.2 0.8+0.5 = 1.7#14 = 11+14 1.9+1.9 0.5+0.3
15:0/17:0 + = + + + > + = + + + + + = + + = + = + + 0.1+0.0
16:0/16:0 0.5+0.2 = 0.5%0.4 0.3+0.1 0.1#0.1 = 0.2¢0.1 = 0.2#0.1 0.2+0.1 0.2+0.0 0.5+0.1 0.4+04 = 0.620.2 05+0.2 = 05+0.2 = 0.4+01 0.5+0.1 0.4+0.0
15:1/18:1  0.2#0.0 = 0.2+0.2 0.1+0.1 + < 0.1+0.0 = + + + + + = + + = + = 0100 0.1+0.0 0.1+0.0
17:1/16:1  0.1#0.0 = 0.1+0.1 0.1+0.0 + = + = + + + + + < + + < + = + + +
15:0/18:1  0.1¥0.1 = 0.1+0.1 0.2+0.1 + < 02#01 = 0.2#0.1 0.3+0.1 0.2+0.1 0.1+0.1 + = + + = 0.2+01 > + 0.1+0.1 0.1+0.1
17:1/16:0  0.1+0.0 = 0.1+0.1 0.2+0.0 0.1#0.1 = 0.1+0.1 = 0.1:0.1 0.1+0.1 0.1+0.0 0.1+0.1 0.1+0.0 > 0.1+0.1 0.1#0.1 = 0.3+0.2 = 0.3#0.2 0.1+0.1 0.1+0.1
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Figure S1. Identification of the endophytic algae Streblonema corymbiferum and Streblonema sp.
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To identify the endophytes we observe they morphology in free-living culture and inside the host (Undaria pinnatifida). The
obtaining and maintenance of free-living cultures is described in the Materials and Methods section (see Section 4.1). The blade’s
discs of Undaria pinnatifida (Laminariales, Ochrophyta) were infected with Streblonema sp. and S. corymbiferum separately.
Undaria was collected in February of 2016 in Sobol Bay (Sea of Japan). Blades without visible signs of endophitic infection (such
as darker spots, deformation and perforations) were selected. Fragments of middle part of the blades were cuted, washed with
sterilized seawater using a brush. Then, cross-sections were made in different parts of fragments to check for the presence of
endophytic algae. The cross-sections were inspected under AxioVert 2000 microscope. Fragments without endophytes were
chosen. Discs 3 ¢cm in diameter were prepared using a cork drill. The discs were placed in the 100 mL glasses separately. The

suspension of free-living cultures of endophytic algae were added. After one week cross-sections were made from margin of the



discs and were checked under microscope. Discs infected with endophytes were cultured during one month under conditions
described in section 4.1. When endophyte became well-developed and form dark spots on discs, cross-sections were made and
checked. Endophytes were identified using descriptions of filamentous ectocarpalean algae [1-6].

Both species shared all the features of the species: deeply penetrating into the host's tissue curved uniseriate filaments of cells
of irregular shape, 3-5 um wide, single band-shaped chloroplast without pyrenoid, uniseriate cylindrical plurangia. In Streblonema
corymbiferum endophytic filaments were crowded or corymbous branched, plurangia formed dense corymbous clusters near the
host surface, which were characteristic of the species. The name Streblonema sp. was used in the present study because to date,
due to the complexity of specific morphological features, this alga has not been certainly assigned to any of the described species
of the genus. Plurangia of the species never formed corymbous clusters, they were unbranched and growed solitary from cells of
creaping filaments.
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Table S3. MS parameters for polar lipids molecular species quantification and identification.

Quntitation parameters

Identification parameters

Lipid Lipid class Ref.
class Precursor specific Collision Scan Precursor  Collision Most abur!da_lnt
h . ) characteristic
ion fragmentation  energy, V  range, m/z ion energy, V ;
- ragment
reaction
MGDG [M+NH4]*  Loss of 179.1 18 454-918 [M+Li]* 37 FA loss at sn-1 [46]
DGDG  [M+NH4* Loss of 341.1 21 616-1080  [M+Li]* 46 FA loss at sn-1 [46]
SQDG [M+NH4]*  Loss of 261.1 32 518-982 [M-HT 50 FA loss at sn-1 [47]
GICADG  [M+NH4* Loss of 211.1 22 468-932  [M-HJ 36 [FA-H]™ -
PG [M+NH4]*  Loss of 189.0 25 446-910  [M-HJ 40 [FA-H] fromsn-2  [48, 49]
Pl [M-H] Product 241.0 44 515-979 [M-H] 40 FA loss at sn-2, [48, 49]
[FA-H] from sn-1
PHEG  [M+H]* Loss of 199.0 26 456-920  [M+H]* 32 [FA+C3sHsO]™ -
PE [M+H]* Loss of 141.0 24 398-862 [M-H] 35 [FA-H] from sn-2, [48, 49]
keten loss at sn-2
PC [M+H]* Product 184.1 33 440-904  [M+Li]* 40 FA+N(CHa)s loss at  [49]
sn-1
DGTS [M+H]* Product 236.1 50 418-882 [M+H]* 35 Keten loss at sn-1 [50]

*sn-positions of acyl chains for GIcCADG and PHEG have not been determined.



Figure S2. Mass-spectra and MS/MS fragmentation schemes of polar lipid classes.
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PE 18:1/20:4, precursor ion [M-H], m/z 764.5
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PE 18:1/16:1, precursor ion [M-H]", m/z 714.5
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PC 16:0/18:2, precursor ion [M+Li]*, m/z 764.6
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DGTS 18:1/19:1, precursor ion [M+H]*, m/z 778.7
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